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‘Lwhuwpwl

AtnGwpypn Juqiywo t 3 qumijuGtphg, qpuywlnpjul gwblyhg,
pnjwlnunpyniGhg L 3 hwytjwobtiphg:

UnwohlG qumjup GJphpywo L CH++ (hqymui opwqptph dyuwliw
hhiGuwywl tmwwGbph, opwgptinh Juquinipjwd, gptijuwdbh b hhdGuwywa
Junnigywopltpp Gyuwpwgnpdw [ulnhpGbnhG: UnwGahG
wuwpwqpudltipnd  hGuwpwynphGu hwyhpd duny wpdwo GG npnp
Junnigqwopbtinh dwipwiwul puguwwnpnipjnilltp, npnlp wipuwgpyuo
b6 wwng ophGwyGtpny:

2-nn qntfup GyhpJwo t Gnp mhuybtph vntnodwlp: ‘Lwlunpn gfumy
owlnpwlwiny hhdGwlwb nyjwiltph L $nlGlyghwjh qunuihwph htwn,
wjumnbin pGptipgnnhG hGwpuwynpmpnil b pGdtnymd wowlg hwybyug
pupnpnipniGGtpp owlnpulwnt opjijrnuyhl YnnuiGnpnuwlG hhdGuwa
wnwppbtph htin® wjG L Juup L opjtinnh qunuithwnGtphG: Uju qifunid
utiyp yynwuh htimbhg nhunwplynmd GG unnigwoplhn, npnlp shwGiwG
alny 66 wpfuwnnud hGywbtu puquihG wmhybph wjybu L YJuulhph
hhiptph ypw hwjnmwpupjwd opjijmGhph hwdwp, npp pnyp L viwihu
pGptipngnnhG  dwwoty  opjiymh Ywywppuyny: Ujunbn  Gul
pugwwunpynd £ opjijunwyhG YnnuGnpnpdwl hhiGwywl gpnypbtiphg 1-
" wjwylkph hGYwuunjughwjh qunuithwpp:

dtpohlG qunifup Gyhpywo £ opjijynuyhG YynniGnpniwlG hhiGuywG
qunuthwpwfununipjwl ytpeohG 2 npmypltphG: Uuwnmbn plplipgnnp
owlnpwlnd t hGywytu dunwlquljublnpjwl dtfuwlthqibGbphb, wiwbu L
wnhdinpdphquih htin:

‘Ulwuwtilp, np nn9 dinGwpymd Jupdhp phh wbu dqymd b pwpn
hwuljugnmpmGGtph ywpqupwlnwin hGupwynphGu yunpq opphGwyGtph
plGwnpyiwdp gqnpobtjundp: JtnGwpyh Gyuwwwyb £ pGptipgnnhG nwnt
hGpGnipnyG  wpfuwwmbtym  hGwpwynpnipyniG, nunh  hhdGulwG
tpmnmunpnuip ny ph uywlmd E pwpn fuGphpGbph dLwytpyiwl L
nonuiGph wopwowniwb Wk, wy) pnhwljwnwyp:

Jdhpomd ptipdwo GG pyny 3 hwybwobtn, npnGghg 1-p GYhpJwo k
opwqptinh  juqidwl, Yyndwhjwgdwl U Jwwuwpnnuwb $wjtph
unwgiwl nt guulg pnqupyiwl hwpgbphG, 2-pgp” wowyt] hwdwpu
hwnhwynn, Ghpppwo npny SmGyghwGtph WwuGwynpuwtiu
dwpbivwmhywlwl L wnntph htn wpfuwwmnn  $nGlyghwltnh)
gnjwdltinhG, huy YtpohlG hwybtpqwond ppjwo GG uwnnmgnnuywd

wfuwwnw lpGtph vh pwGh opphGuyGhp:



QLNMu 1 <PULUUTL {UUUUSNRO3NFLLER
§ 1-1 C++ Lqynid Spwagptph dwliwb EmwwGtpp

C+ -mud dpwqptinh GwljiwG wwnumwnhp trwwGepi GG
1. BGpuytwmwjhG wnyjuiGhpng $uyh uvnbnond, npp wbwp E
niGtlw .cpp plnwyGnuin:
2. BpuytwmwjhG dwjh Yndwyhjwughw, nph wpymlpmyd wtinp k
unwluwy .obj plnuyGiwdp opjtijumwyhG Huyg
3. .obj plpuwjGiwdp dSwjpbtph, wlhpwdb)m qpunupulGbph
htin, hwjwpwqpnid, nph wpynipnd whnp £ unwluy
Juunwnpnqujul dwy;:
Opwgnptiph Juqidwi, yniyhjugiwi b juuwpnnquyul Swjtph
unwgdw i nt npuig pnnupyuwG hwdwn wlhpwdtipn
gnponnmipjniGGtph gnpopGpwgn pipjwo t hwdbuo 1-nud

8§ 1-2 Mnip wpntb dpwqhp Gp qpnid
Qhunwpytlp 1.2.1-md pipdwo opwugnpuwjhG Ynnp

Opmwgpuiht nn 1.2, 1

#include <iostream.h>

// Uyuntin hpuywGwgynud  main() $niGyghwjh Yudbys

int main()

/* main() $niGyghwl hwdwpymd b gjfuwynp pninp dpwgptiph hwdwn
L uGsynud £ wymniwwm Yhpyny oytipwghnl hwiwlywngh Ynnuhg*/
{

cout<<"Hello world! \n";
cout<<"Here is 5:" << 5 << "\n";
cout<<"Good bye\n";

return 0;

— O 000 NV WN—

—_

}

Onnupyiwl wprynlpp °

Hello World
Hereis 5:" 5
Good bye

#include-p Gwfuwwpngtunph hpwdwG t, npp GQuGwimd E qulby
GpwGhg hbwmn qpwo  pwyn  /wjunbn rostreambnp/ L Gpw
wuwpniGwynipynlp mbnuynpty opwgnp htiGg wyn hwnjuwond: (<) L
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(>)—upiyniGtpp gnyyg GG vmiwthu, np wyn pwyp wihpwdbywm b thGnpty
pnnp wyl  pnpwwwlwylbpnd, npnlp wwuwunwuppwlwnm GG L
wuwpniGwlnd G6 Gdwl pwjtp: Gndwhpywwmnpp Guwfuwwnpngtuunph
hpwiwGGtph htinm wpfuwwmnid E Gwjupwl opwaph YndwyhjuwghwG:

Opwgph  hhdGwywl Ynnp uwjuynd £ 3-pnp wnnhg, npubn
hpwlwlwgywo t main() whjwbfudp pmbhghuzh fulys:

CH+H-md jmpupwlsimp opughp wpumnughp vuupmGuiimy gk
main() pmbhghw: dDmGyghwltphG Yuwlngpunpunwlp wybh ny,
wnwjdd pwjwluwl E ghwmbGw; np Gpwlp Ywlyymd GG wyg
pmGyghwltph  dhohg, pwgwnmpjuip main() $niGyghwih, npp
wnw(dGwhwwnniy $nmGyghw kL b wjmniwwm Yhpwyny Julsynid & opwqgph
pnnupyiwl dudwlwy owtpwghnl hwiwlwpgh Ynnihg: main pwnhg
wnwo gpwo int punp GuGynmd E, np wyn $mbGhghwG wbtwnp L
JbpuwgupdGh wipnne whwh dkonpymG, npG bty hpuwyulugymd t
dniGyghwih wjwpwhl refurn hpwiwlh oqlimpjudp /nb’uv wnn 10-n,
Jtpunuwndynn vhonmpjmGp’ 0 /:

Uj6 wdklp, hGpn wmbnuynpquo bt pwgynn L thwlynn dlwynp
thwlwqotph  dhol, Ynyynud bt pmbhghuyp  dwpdpl:  Opwuqph
dnGyghnGuwmpnilip wdthnhywo L 7, 8, 9 wnnptpmy, npnlp cout
opjlljmp oqlinipjuwip typwl GG nmpu phpnd pnqupliwl wpnyniGph 3
unntipp: C6n npnud nput wpnmwhwjnmpl Eypwl goipu phpbnt
hwdwnp wGhpwdtyn L cout pwnhg htimn k] << owipwwnpp, /nphG
wljwbd G0 GpwjhG hnuph owbtpwwnp/, wjlnthtnl typwl nnipu
pinynn wpmwhw jnmpjniGp mbnuynnpty YpyGwlyh swytpmbtph vk, huy
nplt  dhompjul nnpu phpdwl hwdwp® << owbpwwnphg hbwunn
wlhpwdtipn £ yupquutiu qptip wyn dkonipniGn:

Stpumntiph fudpwgpiwl hwdwnp cout opjijnh htin gnpowoyty k& “\n”
hwwmniy uhdiynip, npp Guwlwlymy E wnnh plphwnmd:  {wnmy
uhuyniGtph wy oppGwyGtp pipdwo L6 wn.1.2.1-mud

Uy 1.2.1
No | Uhiyny | LowlGwlynmpniln No Uhuiynp Lowlwlympnilp
1 \t Swpniyjughw 4 \ Ut swytipn
2 \b <btunwnupd uky 5 \? {Jwpgwlwb GpwG
nhppny
3 \” UnlyGwlh swlbpn 6 \\ Ltwmwnupd ptip ghd

Opwgqgptiph plptinGhihmpyjul pwpépugiwl Guuwuuwyny Gpuwlgmu
gnpowoynd kG vk GwpwlmpniGGtn /ntu wnn 2, 4,5/: 26y npmy 2-py
wmnnnud gnpowdqwd t YpyGwyh ptp qony (/) dkyGwpwlnipyniG, npp
UniyhpywwmnphG mbtntluglnud GG np wihpwdtyn E wphwiwphty w)l
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wubklp, h6y qpwo £ wyn uhiynihg htimn dhGsk wyn mnnh wjwpup, huy
4-5 uwnmnbpmd  gnpowoywo L udkl php qhd wuwmnhyny 7*)
vty GwpwlmpyniG, npnp Yyndwyhywumnphl mtntjuglnd &6, np whwp E
wphwdwnphtiy wjG wdtlp, hGy qpwo L Gpwlhg htnn  dhGsk
dtyGwpwlnmpjwl wjwpunp Gynn uhdynm, w6t (*/): Uju nhiypmd

Opuwgpuijhli yny 1.2-2 dtyGupwlmp i GGpp
; E?;ll‘;if(; iostream.h> Jwpnn GG mbnuiynpty haty
3 dtijhg  wybtjh  wnnbpnd:
4 cout<<"Hello world! \n"; UpnymGpmyd - ptipqwod  opw-
5 cout<<"Here is 5:" << 5 << "\n"; ghpp  hwdwpdtp Lt 1.2.1
6 cout<<"Good bye\n"; onwqpuwjhG YnnhG
7 return 0;
g8 }

§ 1-3 OnthnfjuwwbbGEp U hwuwnwwnnlGOtp

OnthnfuwyuGltph L hwunmwnnGGbipp Gwuwnbtujwo GG hGhHnp-
dwghwjh wuwhywliwl hwdwnp: Gnpowonihg wnwg Gpwlp whwp L
Gwfu hwjnmwpupybb: Pnhnfuwuiiopnd ywhwywbynn hGpnpiwghnG
htnmwquymi  Ghpwlw L thnthnfudwl, hull  hwunwnnGibpmd
wwhwwlynnlbpp® ny:
> OnjnfuwlwGGtnh puquihG whubpn

OnhnfjuwwGibph hwjymwpupnuip Yndyhywnnpphl mbnbjuglnid
Gpwlg mhwh dwuhG® wpyniGpnid hhpnnnipju Wk hwiwwwwmwufuwG
pwliwynpjuip wbn L wwhbunwynpynd: CH++--nd  gnpowoynn
thnthnfuwwGGhph puqujhG mhybpp pipjwo 66 wnnuuwy 1.3.1-nd

Unmivwl 1.3.1.

</ | UWaJwlnuip Pugwunpnt- Q UndtipGtipnh showlwjpp
L pjnil w
th
1 2 3 4 5
1 | Bool Pnjjwd 1 True Yuwu False
unsigned short int Unwlg  Guwlh | 2 0-65535
Yupd wipnng
3 | shortint Jupd wipnne 2 -32 768 — 32 767
4 | unsigned long int Unwlg GrwGh | 4 0-4294 967 295
tphwp wipnng




unsigned int
/16 JupquGh/

wnwlg  Gwih
wypnng

5 | long int Gpwp wipnne 4 -2 147 483 648 —2 147 483 647
6 | int /16 YupqwGh/ wipnn9 2 -32 768 — 32 767

7 | int /32 YupquGh/ wipnn9 4 -2 147 483 648 —2 147 483 647
8 2

0—-65535




112 3 4 5
unsigned int /32 wnwlg GpwGh | 4 0—4294 967 295
Yupqulp/ wdpnng
10 | Char uhiynjwjhG 1 256 upiyn)Glip
11 | Float unnpuytinny 4 1.2¢-38 —3,4¢38
12 | Double ypyGwyh 8 2,2¢-308 — 1,8¢308
Gpt g pwlh hnhnfuwlwlh ybpugnyy G wpdbphl qmidwmfh 1, wpgymGpnd fuumugdh 0, huly bph

pwlny hnpnfuwlwGh wnwybpugnyl wpdbphlG gnidwpdh 1 juuwgyh iy mpwyh hwdwp Gjuqugni G
pwguuwlul wpdbpp /- 32 768 wd — 2 147 483 648/: Uu bplaypp wijwGnid GG @lpygnid:

> OnthnfuwlwGtph hwynwpwpmip
Lwynuwpwpiwb ufubtw G htanlyunG k
thnth_wnhu tip_wiGy 1, thioth_w@y 2, ..., thinth_wly] n;

npntin hmh_wpup  hwjnwpupdan  (onfuwwGGphh whyt t,
thnth wGy i-G oquuuwgnponnph Ynnihg wpqwod i-pnp thnthnfuwwGh
wijuwlndGt: ;-p gmyg £ wwhu hpuwdwGh wjwpu:

Onhtuwy’

unsigned int X,y; // hwpmwpwpjwd GG unsigned int mhwh x L y thnthnfuwwGatpp
bool k; // hwjmwpwnpyuwo £ pnijjwl mhwh k thnthnfuwwin

Omhnfuwwlblbnh  whwbph  wijwimdlbppn Qupng G0 hnfuwphGylb
GhnowlinGGEpny, wyuwbu

typedef thnth_whw YnowlnG ;

nputin &pedefn wuwhtumwnpjwd pwn t, thoth wmpyn hnmhnfuwwGh
whwG t, fapowlnbp  JopwGjuwijwo mhwh wijwimd k: OphGuly

typedef unsigned short int USHORT; /funsigned short int mhuyp YtpwGywGyty t USHORT-h

> OnthnfuwlwGGhphG wpdtpGhnh Jhpugpnip

OnthnfuwwGGhphl wpdtpltph Ypwgpmuip hpuywlwgymd b {=}
Ytpwgpiwl owytipwwmnph oqlnipjudp L nu Junpnn E juwnwnyty hGywtu
thnthnfuwuGGtph hwynwpuwpiwb monnud, wyGubu £ wnwGahd,
OnpphGuly
unsigned short int Width=0;  /AJtpugpnuip yuunwnpynd £ hwjnwpupdwl mnnnid

unsigned short int Width;
Width=0; /MEnugpniip junwpynid E hwjnwpuwpdwln hwenpnnn wnnnid



> QwunwwnmniGilin

{wunwwnntGGEph hwjnwpwpnudp hpuuwGuwgynud t 2 tnuGuyny
1. {wpyh sh wnlymd hwjmwpwpwd hwumwmm Gh mhyp:

#define hwun wh] jhn hwun JGompin G
nputin defineq Gwuwwpngtuunph hpuwdwGny dLwybpuiw G hpudw t,
hwmn wiy-n hwunwnmGhG  Ybpugpjwo wlwlndG@  E,  hul
i _hwwn dGompnif-n’ (hnbpwghG hwumwummGh dGompmGa k
OphGwly’

#define studensPerClass 10;

2. <wyh £ wnGynd hwymwpwpjwo hwumwwnniGh mhyn:
const wmhwy wy =jn_hwwmn 060y

npuntin constn wuwhtiuvnmwynpjwod pwn b hwunmwwumniGh hwjmwpwpiwG
dwuh(G, why-n hwunmwnnbGh mhwl b, wlyfn' deompjul wijwlnuip,
huy 7 _Awwmn Ub6o-p ' 1hnbpwjhlG hwunmwwnniGh dhompjul wpdtpl b

OphGuly’
const unsigned short int studentsPerClass=20;

§ 1-4 UpnmwhwjnnipjniGbbp b oybpwwnnpbbp
» UpwmwhwymmpjmGGhp

UpnwhwjmmpnbGltpp  thnthnfuwubGbnh,  hwunwwmniGGtph,
gnponnnipjniGGph npnpwijh poyjuwwnmpbh hwjwpwomGtp GG, npnlp
wjwpunynid bl Jhwm-unnputinny (;):

Opnjujuwl  wpmwhwjumpymbpn’ wwpq Yhw-unnpulbn () L
Uutiwwywnq wpmwhwjunnipyniGGtiphg L ytpugpdwl gnponnnipymGp:
OnhGuly’

a=b+c;

Gowlwymy E b-hG gnuiwpby c-G, wpnymbpp Yytpwgptp a—hG: QGwywmo
wju wpnwhwjnmpjul db9 hpujwlwgynd bt tpynt gqnponnnipynG’
gnuiwn L ypugpnid” Gpu Yypenid npuymud E dky Yhm-umnpulytin:

Llwwtlp np pwgulyp, wwpnyuwghwl Juwd wnnh plghwunndp
wpunwhwjmmpynGGiph dk9 hwydh st6 wnGynd L Yhpwnynd GG
onpwqph plptinGhihnmpjwG pwpépuwgiwl hwdwp: OphGwly uwnnpl
ptipwo wpnmwhwjmnipjwbbtpp hwdwnpdtp GG wiwiu gptjwaéltiphg
X=atb; Jud X =a

+ b ;



> fnYyGtn Ywd Ynduybpu wpnwhwynmpymGGhp

Spwiwpwlnptb thnfujuwywlgguwd wpmwhwymmpniGitph hwjw-
pwonitl Yunbh & Shwinpty §ndwybpulbph’ pinllhph dte: Pnyn ujuynd
L pugynn dluynp thwljwqgony ({) L wjwpuymd b thwlyynn dlwynp
thujugony (}): Lpwlimd weljw Juiwjuywl wpunwhwjnnpntl
wjwpuynud b ghwm-umnputnnyg  G), vwiuw)G pmyh Jupend Yt
unnpuwltin sh npynud:

C++ hqnud uiwjwlywl hpwiwl wjwpuymd bt §an vuonpuibonyg: Snnh
wjupup sh GQuluwynd hpwdwGwihG mnnh wjwpm:

OnhGwy
S
' temp = a;
a=b;
b = temp;
H
> QnponnmpjmiGGbp L owbpwwmnpGhp

Uj6 wdtilp, hGsh wpymlpmd vmwgymd b6 wpdbplbp, C+-mf
gpmy | gnpongmpim 6 wljwlnidp: OpnphGwy 3+2 qnponnnipjulG dwuhG
wunid b6, np w)G yhpunuwpdGmd k5 wpdtip:

Owtpwnnpn - thmbpuy E, npp YndwhywumnphG unhynd £ jumwpty
npnp qnponnuipymGibp: OwbpwwmnpGlipp wqnmd G0 owtpwGnGhph
Ypw: Owbkpwbnn Yupnn t (hGtg hGywbu wpwGdhG jhntpuy, wyGuytu L dh
wuipnne wpunwhwjmnipynil: Unfw GG Gpynmt whuyh owbtpwwunnplbip
Ybpwgpiwl L dwpbdwmhljuu :

YbhpuwgpiwG owbpuwmnpp (=) poiyl £ mwhu hwjwuwpiwG GpwGhg
dwhi qulynn owbtpwlnh wpdtpp thnfutp GpwGhg we qunlynn
wpunwhwjnnpjul wpdtpny:

C++ -nuid wnlu 5 dwptdwnhuyuwl owtpwwmnpltpp pipdwo GG
wnnuuwy 1.4.1-nmu:

Upmuwly 1.4.1

LK [ U4y. | Pwgwwumpnipnil OppGuwy , a=15,b=10

1 + Gnudwpnid X=a+b; wwwm X=25
2 - Qwlnd X=a—-b; wwwn X=5

3 * Pwgqiuyuwwunlnid X=a*b; wwuwm X=150
4 / Udpnne phy pwdwinid X=a/b; wwwn X=I1

5 % Pwdwlnud pun dnnniy 2-h X=a%b; wwwm X=5




> hipptitiim L YbpptitiGn: Mptdhpu L wnundhpu

Utiompjwl wép 1-ng wijuwlmy 6 hGpphikim, huy GJugnuip 1-ng’
ntipphitiGm: blpphutinh owytipwwnnl £ (++), hul ntipphditGupp’ (--):
OnhGuwy’

X ++; // Qwdwpdtp L x =x + 1 ; wpnmwhwjnnipjuln

X - // Qwdwpdtp L x =x - 1 ; wpnwhwjnnipjubp

blpptikGunh L gipptdtiGunh oytpwwmnpltipp upnn GG npygby hGyutu
thnhinfuwluGliphg wowe /wjn nhiwypnd Juublp np mGLGp wphbhpuh
owbpwwnp, ophGwly ++myAge/, wjGwbu L Gpwlghg htwmn /wju
nhypmyd  Yuubtlp, np mGblp wnumdbhpuh owbpwwnp, ophGuy
myAge++/:  Mpbhdbhpuh  owbpwunpn hwydwplynid £ Gwjupwl
Jtpuwgpnuip, wnundbhpuhln® Yyipwgpmuihg htinn:

Qhunwpytlp unnpl pipdwo opughpp
Opwgpuihl ng 4-1

1 #include <iostream.h>
2 int main()

34
4 inta,b;
5 a=15;
6 b=a;
7 Cout<<”b=a a="<<a<<"\t"<<"b="<<b<<"\n";
8 b=a++;
9 Cout<<l|b:a++ a:”<<a<<"\t”<<"b:”<<b<<"\n";
10 b=a--;
11 cout<<"b=a-- a="<<a<<"\t"<<"b="<<b<<"\n";
12 b=++a;
13 cout<<"b=++a a="<<a<<"\t"<<"b="<<b<<"\n";
14 b=--a;
15 cout<<"b=--a a="<<a<<"\{"<<"b="<<b<<"\n";
16 return 0;
17 }
Pnnupyiwl wprynlpp’
b=a a=I15 b=15
b=at+ a=16 b=15
b=a-- a=15 b=16

b=t++a a=16 b=16
b=--a a=15 b=15

OwtpwwunplGtph juunwpiwli wpwelw)lnipjwb fulnhpp Moywo L
Ghpwn wjlybtu hGyybtu unynpuuwl hwlpwhw)ynd: {wyjwuwpuqgqnp
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wpwolw)impjul owbtpwwnnpltnh Juunwpiwl hwonppuljulnipjmp
hpwjwGwgynd t wunnnui dwjuhg w9 hwlnhydwl hwonpnwlwln-
pjuip, pugunnipjuip Yytpwgpiwl oytipwwmnphg, nph 9 Juumwpiwb
hwonpnuywlmpnilp wohg dwhu L: GnponnmipyniGGiph Juwumwpiwh
hwonpnuwywGnpnilp Yupbih & thnthnfut) gnpowotiny Ynp hwywqotn:
> QunitiiwuniwG owtipunnpltn

‘LwhwwmtuJwo 6 dhompyiGlph  hwjwuwpnipymbp  /Jud
wlhwywuwnpnipyniGp/ Gunbknt hwdiwnp: Swayp pepdwo k wr. 1.4-2-nud:

Ugmiuwly 1.4-2
X< | Uaqwlmdp Owtpw OnhGuwy dbp. Jhomp.
wnp
1 {wywuwn k = 100 == 105 False
50==150 True
2 {wjwuwp sk 1= 100 =105 True
50 1=50 False
3 Uto > 100> 150 False
50>50 False
4 Uto Jud hwwuwn k >= 100 >= 150 False
50>=50 True
5 Onpp k£ < 100 < 150 True
50 <50 False
6 Onpp jud hwywuwp | <= 100 <= 150 True
50 <=50 True
>
if (wuydwG)
wpunuwhwjnnipjnil;
MNuyiwiwywub oytpuwnnp if

if owbpwwmnph yupqugnijG ntup t

(wuydwl)-n Jupnn bt hGh judwyuuw6 wpnwhwjmnipyniG, vwjuyl
unynpwpwn  wjl hwitdwndwl owbtpwwmnp L: Gph  wuwjtiwlp
Ytpwnunpdlnd £ false wyw hwonpnnn owybpwwnpp pwg b pnnGynud,
true ytpunundGtjhu” Juumwpyn k:
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OnhGuy’
if (X>Y)
X=Y;
Ujuntin unnigynud £ (X>Y) wwydwln: Gpt X>Y,wwyw X-hG Ytpwgpp-
ynud £ Y-h wpdtipp, hwjwnwl giypmy ytpugnpnid sh juunwnpynid:
<hptiGp, np Yupkih £ dh pupp wpmwhwjnmpymGitp judpuynpty vby
pinyh dte: Uyn nhiypmd, pun pipdwo ophlwyh wywjdwbh Juumwpiwb
ntypnd Jyuwnmwpytl pnymd ptipdwo pnpnp wpunmwhw jummp niGGpp
OphGuy
if (X>Y)
{

cout<<’X>Y\n”;
X=Y;
cout<<’And now X=Y\n”;

}
Gwfu typwl nipu Yptpgh X>Y wpumwhwymnipynilp, wjlnthbnle X-hG

Jtpwgpdph Y-h wpdbpp, L Eypwl L nuipu Ypbipgh And now X=Y
wpunwhwjnnipniln:

»  Mujiwlwywl oybtpunnnp if...else

Uj0 if oyipuwunnph vk wyp gptjwél £ npp gpwo opughpp qupd Gmuy
t wnwyb) hwuwGwih:

if (wuyiwG)
wnumwhwjunmpymb_1;
else
wpnuwhwjmmpimb 2;

Uyu niypnd YpyhG vnmagynid & (wugdwb)-n, tipt w)jl pujuwpupynd
E, wyw juuwpymd b wpnwhwjunmpimb 1 -p, hwjwnwy pbhypmy
wpunwhwjmmpymb 2 -p:

OnhGwy
if (x>y)

x=y;
cout<<’x -in veragrvel e y mecutyan arjeq\n”
}
else
cout<<’x>y paymany chi apahovvats\n”
| cout<<’Katarvum e ankax paymani chisht kam sxal lineluc \n” |
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> Outipuwwnp switch

Pwqiwyh  Gepppuo  iffelse . Junmgywopliph  qnpowdnuip
pwpnuglnd L opwqph Junnigwopn, nunh Guyuwunwlwhwpiwp
qnpowodty switch owtipwwnnpp: Uj6 niGh ptpdwo k unnpl junnigyuwopp

switch (wpmwhwjnnipjniG)

casewndtip 1:  owblpwwnp;
break;
casewndtip 2:  owhpwuwnp;
break;

case wpdtip n: owtpwwnp;
break;
default : owbpwwnp;

switch owtipwwnphg htimn ptpdwo Yinp thwjwqotipnid Yupnn t jhGg
Judiwlwyub wpunwhwjnnipyniG: (owtipwwnnp)-h thnfuwptiG
poyjjuumpymu £ judwjuywl oyipwwnmnp jud wpmwhwjmnipynil, Jud
ouyipwwnpltph L wpmwhwjnmpniGlGiph hwonpnuywlnpyniG, nph
wprymbpp wdpnne phy L /wpgbpynd b mpuiwpwluywul gnponnni-
pyniGGEph ud hwitdwndw( wpnwhwjmnipniGGiph gnpowoniip:

Owtpwunpp wpfuwwmmd £ htnlgwy Yepy' (wpnwhwyjmmpymG)-np
hwibdwunynmd k. case —tiphg htinn gpjwd wpdbtpltph htiwn, L n°p wpdtph
htin hpwywlGwgymu £ hwdinlyined, juunuwpgnd G6 wyn mnngnd gpuo
wpunwhwjnnipymGGbpn b hpwlwlwgynmd L wlignd wuwjdwlhg nnipu:
Gpb hwdpGylmd sjw ny dh mnnmud, wyw uunwpgmd t default mnnmd
gnywo  owtpwwnplGtnpn L YpyhlG wwjdwbhg nympu L quihu: Gph
wpunwhwjmnipynGGtph vk9 pugwyuwynid b break hpuwdwGp, wwyw dh
case - h Juwumwpnihg htnn YPupniGwlytal Juumwnpbp ponp WGwguo
case - tipp, wyn pymd Gl default-p: break - p pny) & wmwhu pwpthwenn
tip wnw(g Wyniu case - tiph Juunmwpdwb:

> Spudwpwlwlyw6 owtpwwmnplbp

Uh pwlGh wwjydwllboph Jdhwdwdwlwlyyjw unmnmqiwl hwdwp
wihpwdbtywn t gnpowdty mpuiwpwGuyul owybpwwmnpltp Antu wn w.
1.4.3/, npnGg &vwpunwghnmpjul wnmuuwlyiepp pipjuo 66 wn. 1.4.4 -
1.4.6-m4:
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Unmuuly 1.4-3

Unnynilpp Apdwppun | (frue), Gpb
Apdwppun 646 (true)
Pt wpunwhuywnnuyynta_1-p L p&’

wpnunwhuywnnyynil_2-p:

Unnynilpp Spdwnpun F (frue), Gpt ud

wnunwhuywnngynil_ 1-p yud
wnunwhuyuinnuyginta_2-p Spdwppun 66

Upryntbpp &20wnhun  (true), bpb
wnuwhwjwinneeyntlp Yené t (false ) L

hwywrwyp:

{<& | Owtpuw- Uhu- OphGuy

wnp Ynj-
1 Gd. && wpwn_ 1&& wpn 2
2 quuU I wpn_1 [ wpn 2
3 no ! ! wpw
Owtipuwwnnp 64, Unmiuwly 1.4-4
Upwn 1 Upwn 2 Upnnilpn
True True True
True False False
False True False
False False False
Oytipwwmnp YUU Unmuwly 1.4-5
Upun 1 Upwun 2 Upnynilpn
True True True
True False True (true):
False True True
False False False %\
Oytipwwnp 192 Unmuwly 1.4-6
Upunwhwjunnipnil Upnnilpn
True False
False True

<polilip, np C++ jhqnud 0-G hwdwpdbp [ false wpdbpht, huly dGwgwo pjuhl wpdtipGlpp hudwpdbp GG true
dbompyulin, pwlh np ponp wpunwhwpommpimGabpn dfipum mG6G pyughl wpdbp, ninnp gnpowowlwl LG

winnple phipjuo qplipudLibpp

§ 1-5 dniLGyghwbtp

bnllyghwl tGpwopwghp £, npG wpluwwmmd £ wnyjuwGph htn L
Jtpwnupdlnd L npnpwlh dkonpyniG: GnynipymG mGaG Gpym wnhup
PnGyghwltin’ oquuugnponnh Ynnihg dLwybtpyywo” unmwlnupn L,
Ynuyhyywwmnph thwptiph htim mpuwiwngpyuo” Gepgpywo:

Gnpowonuihg wnwe wlhpwdtyn b pnlGlyghwltipp hwymwpwupty L
vwhiwlty;: dnilyghwih hwjmwpwpnip wijuwimd 6 Swfuunny L
wyniGh htimlyw) qptjwdln

Jtpunupéh mhy  wlmbG (wuwpod 1, wuwpwd 2,... wywpwd n);

OphGuy’

int myFunc(int somelnt, float someFloat);

14



npp Gwlwymd E myFunc() $niGyghwb npytiv wupuwdtnp pnmGnd k 1
wuipnng L 1 hpwwl wpdtp L ybpunupdmd E wdipnn9 wmhwh wpdbp:

> dmlyghwlbph vwhiwGniip

bpuywlwgynid £ unnpl pipdwoé ufutidwyny

Jtpwnwndh mhy  winiG(ywpwdtnp 1, yupwdbnp 2,... yupuwdbnp n)
{

// prGyghwyh JwnpdhG

return ytpunuwndynn vtonipjniG;
¥
OnhGuwy’

int Area (int length, int width)

return (length*width);

¥

> dmGyghwbbnh Yubsp
b byghwjh ubn yuumwpynd E hbnbgwy vjubdwny’
dnGyghw_wlmb (wpgmitkibm_1, wpgmuibkGun_2, .... wpgmitln_n);

Shunwnpytlp pnlGyghwih hwyjnmwpwpiwb, vwhiwldwl L Yulsh dh
ophGwl /mtu 1.5.1 opugpujhG Yynnp

OnpwgpuijhG Yoy 1.5-1

#include <iostream.h>

#include "cube.h"

int Gumar(int, int);

int main()

{
int a, b, c;
c¢=Gunar(5,15);
cout<<’c="<<c<<endl;
cout<<"Input a=";
cin>>a;
cout<<” Input b=";
cin>>b;
c=Gumar(a,b);
cout<<’c="<<c<<endl;
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15 return O;
16 }
17
18 int Gumar (int X, inty )
19 {
20 neturn x+y;
21}
Ornnunpyuwb wpnyniGpp’

c=20

Input a=30

Input b=40

c=70

PipJwo  ophGwymd phunwpyguwo GG 2 $mGyghwltpn” main()
qiuwynp $nGyghwl L Gumar()prGyghw:

hGswtu mbulmd GhGp, Gumar() $nmbGlhghwl vnwlnd L 2 wdipnng
nhwh wwpwitnptp, yepunupdind” wdpnng mhwh dtompymG: 7 L 13-
pn wnnbtpnmy ppuywlwgymdi £ wyn  $mbGlighwih Juwlyn htnbyuyg
wnwnppbpuwyGbpny: 7-pn mnnnud” pnlGyghwjh Yubsh wyuhhG junwnpynd
E wlgmu 18-pn mnnhG: dnbGlghwjh x, y wpgmitGunGtphG yepugpynid
L0 hwiwwwunwuhwlwpup 5 L 15 wpdbpGipp L Gw 20-pp nnnmy
hwyqunpynud £ L JbpunupdGnd £ x+y * 5+15 wpdbpn, npG b yepugpynid
t ¢ inhinfuwuGhG:

13-pp minnmud wdkG hGy GnyGG b, wjlG wnmwppbpnipjudp, np wju
nhypnd Gumar() $nilGlghwjhl Ytpugpud wpdtplbppn Gepyujugyud
GG thmhnfuwwGGtph wmbtupny, npnlp Gwhiwwbtu wpdtipGbp vnwGnd
LG YnGunyuwjhG nbdhind 10 L 12-pp mnnbpnod: UGwgwo wikG hGn
GnyGG E , hGy Gufunpn giwypniy:

bnGyghwbGtph Ghpund hwjnmwpupywo hnthnfuwubGhpp, hGyuybu
Gwlk  $nlyghwltphl thnfuwlgywd wwpwitnptppn wijwlmd GG
wmbnuypl  Juwd  nup: bpwlp gnponmd GG wfjuyp mGyghwgh
uwhdw(Gtpnd L Gpw vwhdiwlGbGphg npnipu hwuwGbh - sEG:
bnlyghwltiph Ghpunwd, pyGhipnd, hwjnmwpupjwo thnthnfuwwGib-
ph wmbuwGbjhnipjul whpnypp vwhiwGwhwyymd £ wndjuwp pmYyh
uvwhdwGGpmd: buy pnnp $niGyghwlbphg /g pymd Gul main()-hg/
nnipu hwjnwpwpdwo thnhnfuwubGipp hwuwGbh G6 yudwjwlub
PnGyghwbtinhg L Ynyymd GG guopuy thmpnfuwlpulGGan:
> bmayghwbtph qipptinGmin

UhllnyG  wlwlnuing wwppbp  pmlGyghwlbph  uvnbtindonuip
wijulmy G6 pmahghubbnh qlpplntnd: A-tpptinGjwo dnilGyghwllpp
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dhijwlghg whtwp L mwpptipyt jud Gpulg thnfuwigynn ywpwdtnpt-
nh pwluwyny, Yud Gpwbg thnfuwlgynn wuwpwdbuptph whybpnyg Yud
Jtpunundynn dkonipjwl whwyny juwd £ pb dbyny L pb ynuny
thwdwiwlwly: Uwmnpl pipjwo ophGwlymd myFunction() $nilGyghwa
qgtipptin(ywo t 4 wiqud: bul pb np pnlljghwl Juwouwwmh Gpuw fubsh
dudwliwl ywjpiwlwynpyuwo bt Gwpl thnfuwlguwo wpgni-tkGnbhph
wmhwny, pwliwlny Jud $niGlyghwjhg uyuuynn stonpjul mhwny:
OnphGuy

int myFunction(int, int);

int myFunction(long, long);

int myFunction(int, int, long);

long myFunction(int, long);

UhllniyG wpgmibkGunGbph pwlGwlih L mhybtph nhypmy sh Jupbh
qtipptinGh; 2 wjGuwhuph $nlGlyghwGtp, npnlGp YYtpunupdGtlG wnmwppbp
whwh dkonmpniGGtn: OphGuwly

int myFunction(int, int);
void myFunction(int, int);

OphGwyp upuwy £ Gndwhywwunpp sh Jupnn YnniGopnpygtp pb np
PnGlyghwl wbwmp L wpjuwwmh Juwlsh dwdwlwly L hG; dhompymG
JtpunuwndGh /int pb void/, tpp Gpwl thnfuwGgytlG 2 wdipnne wmhwh
utiompym GGn:
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QLNMu 2 OR3BEUSU3PL UNAULNALNCUTL
orda-rtdnNeuUty SueLerere

8§ 2-1 Pwquwhb Ypwubbp

Ywup tmhnfuwullinh L Gpubg htn juuwd nillghwbtnh
hunjuwpwom E: Guuwuh thnthnfuwlwGlGbpp wijuwlind 6 hmhnfuwlwG-
wlnuilbp, huy pniGyghwltipp’ pmGlghw-wlnuihn /wd thpnnGhp/:

> Yuuultph hwjmwpwpmdn

bpuwywwgynud £ pun unnpl pipduo uutidwh.
class wijuwGnmd

tnthnfuwwl winud 1;
q.lil.lhntumllm G_wlnui n;
dnlGyghw wbGpud _1;

El;r.nﬁllg]lw_ulﬁl}uui_n;

OnpGuwy *

class Man

It

8
unsigned int itsAge; // unsigned int mhuh itsAge thnthnfuww G-wGnud
void Sing(); // Sing() $niGypghw-wlnud /Jud dhpnn/

15
Giwuh hwymwpuwpnuip hhpnnnipyniG sh ywhtunwynpnid:
> OpjtymGtph hwymwpupnuip

Opjijmp  Ypwuh wowGdhG ophGuly L, nph hwjmwpwpnuip
hpwywlwgynid £ pun unnpl pipdwo ujutidujh

Jrwu wijwimd opjtiljn wGjw Gmy;

OnhGuy’
Man Harry; // Man whuih Harry opjllpn

Opjtijnph untinonuihg htnn Jwnbh © ghily Gpw hnhnfuwuwi wi-
nuilbtphl L epnnGtphG, npp hpwwwgynid £ pun phpud ufubdwh’

opjtijm.thnthnfuwlyw b wGpud
18



opjtijm.pmGYghw_w Gl (wupwd_1, qupud_2 ..., yqwpwd_n);
OnhGwy’

Harry.itsAge = 50; //Harry opjlilpnf1 1itsAge wlnuuhl Jbmuqgnty 50 wpdbp
Harry.Sing(); /Tuilisky Harry opjlhlpnp hwdwn Sing() dbpnnn
Qh Jupbih nhuty opjtijnh wyl wlnwdhG, npp hwjymwpwpwo sk wyn
opjtijnp Yjwuh hwdwn:
OnphGuy
Man Harry; /I Untinoty Harry opjtiljinp
Harry.Speak(); // Harry opjtijnh hwdwn wpfuwwmwgGty Speak() dtpnnp

OnhGwyp ufuwy k: Man Juumd pugujuymd £ Speak() dtipnnp
> Ypwuh winudGhnh hwuwGbhnpywl nhdhiGhpp

Ywuh wlnuibtpp Yupnn G0 hwjnmwpwpgby L hGh public- pug Jud
hwuw(bph, private- thwl Juwy wihwuwGhih, protected- wuwpymuwlGwo:
Cun nbihnpyjul Juwuh winudiGhpp thwy GG /private/ L Gpulg nhibg
ninnuyhnptG hGupwynp st: Uwluw)G public punh pGnphhy Yunpbih t
Jqwuh  wlnwiGbpp hwjnwpupty  pwg, U phitp  Gpwlghg
JnipupuwlyyniphG: OphGuly.

Opwgpuyhl gng 2.1-1

1 #include <iostream.h>

2 class Man

3

4 public:

5 int itsAge;

6 int itsWeight;

7 b

8  int main()

9 A

10 Man Harry;

11 Harry.itsAge=5;

12 cout<<"Harry is a Man, who is ";
13 cout<<Harry.itsAge<<"years old\n";
14 return 0;

15 }

Onnupyiwl wprynlpp °

Harry is a Man, who is 5 years old

19



Unynpwpwnp JuubGtpnd thnthnfuwjuG winpudltpp hwjmwnpupgnd
&6 thwy, huy depnnbpn’ pug:
> Ywuh dtpnnGbnh vwhiwGmip

Yuuulbpnd  hwyjnmwpwpjwo  pnnp dbpnnlGtpp wbhwp £ Gul
uvwhdwlytl: Uwhdiwlnip GdwG L unynpuliuG $mGlyghwGtiph
uwhdwldwbp, wjl wmwpptpnipjudp, np wju phypnd $nlGlyghwjh
wijuwliwli U yJopwnupdynn deompjul dhol npymd E o Yuup
wiJwlnuip nphG hwonpnud &6 tGpyme Yyepowytnbp (::) /OphGuy -1/
UwlwjG dtpnnGtph uvwhdwlGmdGipp Yupiih £ Gl qpt) Gpwig
hwjnmwpupdwG dte: /Oppbwy -2/:

OnhGuy- 1 /OnhGuy -2/
class Man 1 class Man
{ 2 H
public: y|3 public:
void Sing(); w| 4 void Sing() {cout<<"Lalala Lalala\n";};
5

S
void Man::Sing()

{

1

2

3

4
505
6

7

8 cout<<"Lalala Lalala\n";
9

}

> Unluunpmlumnn L nhunpmljumnp

UnGumnmiyumnpp Ywuh dbhpnng L, nph wlmGp hwiplyGmd © Grouoh
wljwl htn L wpdtp sh Yopwgupdmd: UG G(wupwnbujuwo
ojtywnGbtph untindvwl L hGhghwhqugdwl hwiwn:

QThunpmyunpp L nGh fruuh wijulmd, vwyw)G gnuihg wonwe
npymd £ (~) mhppugh GpwG: Uy6 nplt wpgmuibiGum sh plnmlnd, ng dh
wnpdtp  sh  Yhpunupdlnd L Gwpupwwmbujwo L hhynnnipjniGhg
opjtijnnGliph htinwgdw G hwdiwp:

Gpt Jyuuh YnGunpniumnpp b niunmpniyuinpp nplhgh wpgnudtiGu s6G
pinmGmy L ny dh gnponnnmipjniG ;66 Jumwpnd, GpulGg wijwlimd GG
utnw inupn YnlGunpoijumop Yud nhunpnilnnn:

Gpt pwgwhwjwn duny sh hwjmwpunpyly Juuh YnGumpniumnpp jud
nhunpniynnpp, wujw nu wind L Yndwhyjunnpp: OphGuly

OpwgpuyhG ng 2.1-2

1 #include <iostream.h>
2 class Man
3 {
4 public:
20




5 Man(int initialAge) { itsAge=initialAge;};

6 ~Man() {};

7 int GetAge() { return itsAge;};

8 private:

9 int itsAge;

10§

11 int main ()

12

13 Man Harry(5);

14 cout<<"Harry is a Man who is ";
15 cout<<Harry.GetAge()<<" years old\n";
16 return 0;

17 3

Ennupyiwb wpnynilpp’

Harry is a Man who is 5 years old

> Puptjuiwlwl $mGyghwbtn

<hptilp np, Yuwuh thwy hnhnfuwwl-wlngudGephG Jupbh b ghdt
thwjl Gpulimdy wnjw pwg pmGyghw-wlnudibtnhg: Uwlyw)G tppbdl
wlhpwdtpmmpniG £ wnwowlnmd Gpuwlg nhibmnt opwgph wyGwhup
$nGyghwbtinhg, npnlp wnyjwy Juwuh wlnud sh6: Tuguwop hpwlwlwg-
ynud L pwpbuwiwyuwi $nbGlhghwbtnh oqlinipjudp, npnlg (wjuwutiu
whwp b hwjnmwpwnpty wyl Juuh dte, nph thwly wlnuiGtphG ybwunp L
nhuiby htimwquynud:

OphGuwl’

class C1

{
public:

friend void f_funct();

H

wju oppfwynud f funct() pniGlyghwb C1 Yjuwuh hwiwp hwjmwpupuo k
pwptjuiwiub: Pupbjudwlwli dnbGlyghwltph Gipdinodwl hhdGw-
Jwl wwwdwep juyjwlmd £ 2 L wylh wwpptp Juulbph thwy
wlnwdbtphG dhulnyl $nlGyghwjhg nhitine wihpwdtymnmpyjub dhy:
£lwlwi E, np wyn nhypmd nyjw) pnilyghwl wyhmp £ puptyudwlub
hwjnmwpwnpyh ponp wyG YJuultph hwdwp, npnlGg thwy winudGbphG
htiinwqund ywhwp k nhih wyjwy $nllyghwl: PptiGp vh ophGuy
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Onwgmuhl nn 2. 1-3

O 01NN AW~

W W WWNNNINDNNDNDNDNDEND = === == = =
WNN— OOV NDE WD, OOV AW —O

34
35
36
37
38
39
40
41
42
43

#include <iostream.h>
class car;
class lorry
{
int itsWeight;
int itsHorse Force;
public:
// compare() pupblpudwliul pnGhghuh hwpnwpupnidn
friend void compare(lorry 1, car c);
void SetWeight(int weight) {itsWeight=weight;};
int GetWeight() {return itsWeight; };
|
class car
{
int itsWeight;
int itsHorse Force;
public:
// compare() pupblpudwlul pniGhghuwh hwjmwpupnidn
friend void compare(lorry 1, car ¢);
void SetWeight(int weight) {itsWeight=weight; } ;
int GetWeight() {return itsWeight;};
3
// compare() pupblpudwlpuu G prniGhghuwgh vwhdwlnidn
void compare(lorry 1, car c)

// Qwdbdwunnid B4 lorry L car GpuuulGbph its Weight il wlnwidGhpp
if (LitsWeight > c.itsWeight)
cout<<"Lorry Weight is > Car Weight\n";
else
cout<<"Lorry Weight ia < Car Weight\n";
B

int main()

lorry ob 11, ob_12;
car ob_cl,ob c2;
ob_11.SetWeight(2500);
ob_cl.SetWeight(1500);
ob_12.SetWeight(1400);
ob_c2.SetWeight(1500);
compare(ob_11,0b _cl);
compare(ob_12,0b c2);
return 0;

}
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Ennupyiw wpnynilpp’

Lorry Weight is > Car Weight
Lorry Weight is < Car Weight

Uju opplwlymd hwjmwpwpjwd GG Gpynt® lorry L car YwulGbpp:
‘Lpwlgnd hwjmwpwpjwo b compare() puptjuiwlwb niGlyghwb, npp
npnpywo st wyn JuulGtphg b ny dbymd: Uyn $mlGlyghwyh Ghpumd
hpwjwlwgywo L ninnuih phind wyn 2 JuuGbph UG thnthnfuwwb
wlnwuilbphl, sGwyjuo np wyG ALGIE Jwuh dbpng gk <puGulwd
onwgnnid unbtndynd bl wyn Yuwulkinh hhiph ypw 2-wyuwl opjtiunGhp,
L compare() pniGyghwyh vhongny hwitdwwmymd GG wjyn Yuwubkph
itsWeight thnthnfuwjuG winuwdbbpn:

Gpt nplt fuuh vwhiwGdwl dwiwlwly, Gpulnd hwjnwpupjuo
pninp $niliyghw wlnuiGbppn pwptjudwlwl 66 dEY wy Ypuuh hwdwn,
www Juwnbh £ hwdwnpty, np ndyuy Juup puptjudwljul fuu B djnwu
Yjwuh hwdiwnp:

> QhipptinGywd dmGyghw-wlnudGtn

bnlGyghwGtiph qippbinGiwl wGwmnghwyny YJunptih t qippbinGt; Gul
JruulGtph $niGyghw-wlnuidbtpp” wyn pynud Gul YnGunpmiunplhpp:
Shnwnytlp 2.1-4 opwgpujhl Yynymu pipjwo ophGuyp:

Onwaonuwiht hnn 2. 1-4

#include<iostream.h>
class Man
{
public:
Man();
Man(int age, int weight);
~Man() {cout<< "This is a destructor...\n";};
private:
int Age;
int Weight;

0NN AW~

—_ — O
— O

b
Man::Man()
{

[ —
B LN

cout<< "This is a standart constructor ...\n";
Age=17;
Weight = 10;

—_
~N O\ D

b
18  Man::Man(int age, int weight)
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19 |
20 cout << "This is not standart constructor...\n";

21 Age = age;

22 Weight = weight;

23 5

24 int main()

25

26 Man Harry; /I Guulsymd F Man() gnlGunpnipupp

27 Man Murka(12,33); /I GQuulisymd F Man(int, int) ynGunpnilpnpn
28  return 0;

29 1}

Pnnunpyiwl wpnynilpp’

This is a standart constructor ...
This is not standart constructor...
This is a destructor...

This is a destructor...

§ 2-2 3pyibp

Gpp pulphpGtph nodwl dwiwlwl wwhwleymd E dh wpp
gnponnmipjniGGtph wlhpudb)m pwlGuwympjudp Ypylnd, qgnpowdoymu
tl ntynmipupy Yuwd hnbnwwmhy wignphpultp, npnGp k] hptiGg htpphG
ptipnmud GG ghyitiph juqiwibpudiw6 fulnphG:
> Unw(g upuydwih wigdwl outnwumnp / owybpwunp goto/

Onpwgqph vh hwnwohg vty wyp hwnywo, wnwlg yquwjdwlh, wignid
Juptih t hpwiwlwgll whunwylhph /label/ L goto owbtpwwnnph
oqlnpjudp: Mhunwlp nu hnhGunhwydhwwnp £, nphg htinn gpymd £
Jtpowytin (:): Mhunwlp nuynd £ wjl owybpwwmnphg wnwy, nphG wtiwnp k
thnjuwlgyh ntjwywpmip, hul wigiwl hwdwp gnpowdoynd L goto
owtipwwnpp: OphGuy
Onwgpuhl hng 2.2-1

1  #include <iostream.h>

2 int main()

34

4 int counter=0;

5 loop:  countertt;

6 cout<<’counter="<< counter<<\n”;
7 if(counter<5)

8 goto loop;

9 cout<<"Complete counter="<< counter<<”. \n”;
0

1 return 0;
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1}

Pnnunpyiwl wpnynilpp’

Counter=1
Counter=2
Counter=3
Counter=4
Counter=5
Complete counter=5.

goto owpwwnnph oqlimpjwip Juptih b juqiwytpyty ghyp hGswtu
Jtpp pipJuwo oppGuynuy, vwyuw)G ghytiph Juqiwybpuydwl hwdwp
Guuwuwywhwpiwp 66 hbtwmlgw; 3 owbpwwnplhpp” for, while L
do...while:
> Shijtiph yuqiwytpynuip while owbpunnnph oqGnipjudip

Ujn owytipwwnpp niGh htmlyw) mbupn
while (wuyiwG)
{

ghlyh dwpdhG

L wpfuwmnnd E htnbyw mpudwpwmpjudp, unnmgymd £ (wuydwbp) L
pwih nbin w6 puwjwpupjwo £, juunwpymy GG pnnp wyl owipwwnnp-
Gtpp, npnGp gnwo GG ghyth JwpdlGnd: Gpp (ujdwlp) qunupmy k
qnnpobnig, opwqph Juumwnpnuip thnfuwlgynid £ Gpw dwpdGhg noipu:
‘Lwjunpy opwghpp GipYujwuglhlp wju owbtipwwnph oqlGnipjudp:
Ennupyuwl wprymbpp GnyyGa E :Stku opwgpuiyhG ynng 2.2-2 e

Onwgmuihl nn 2.2-2

1 #include <iostream.h>

2 int main()

34

4 int counter=0;

5 while(counter<5)

6 {

7 counter++;

8 cout<<’counter="<< counter<<\n”;
9
1
1

cout<<’Complete counter="<< counter<<’. \n”;
return 0;

— o
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12 3

> 8hytph Juquuytpunuip do...while owipuwnnnh oqGnipjuip
Uyn owytipuwwnpp niGh htinlbjwy mbupp
do

ghyih dwpdhG
} while (wpuydwG)

U0 wpuwmmd t htnlyuw) mpwidwpwlnipjudp: Gwunwpymd bl
pninp wyG  owbpwwnpGtpp, npnGp qpwuo GG ghyh Ywpiln,
wjlnthtnlk vmngynud £ (quypiw6)-p: Gpb wyl pwjwpupynd E,
hpwyuwlwgymd t wlgnd ghyth uyhgpe L Ypyhl Jumwpynd GG do —hg
htimn qpwd pinyh owytipwwnnpGipp’ wyp funupny ghyh YJwpdGhG: Gpp
(uydw6)-p nunupnd k gnpotnig. opwgnpp Juwmwpnuip hnfuwGgynid
E Gpwl hwonpnnn wnnhG:

‘UniG  opwqhpp  GhpyuywugGhlp wju  owbpwwnph  oqlmpjudp:
Ennupyiwl wpnynilpp YpyhG GmyGaa k : St’u opwgpujht Ynn 2.2-3 n:
OnwgnpuihG fng 2.2-3

#include <iostream.h>
int main()

{

1

2

3

4 int counter=0;
5 do

6 {

7

8

counter++;

cout<<"counter="<< counter<<"\n";

9 } while (counter<5);

10 cout<<"Complete counter="<< counter<<". \n";
11 return 0;

> 8hytph Juqiwytpwnuip for owbpuwunnh oqGnipjudp
Ujn oytipuunnpp niGh htinlyw) mbupp
for (wpu_1 ; wpwn_ 2 ; wpm_3)

ghyth dwpdhG
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nputn (wpun_1)-p vwhdwlmd t ghyth hwyh uyqpGuyul wpdtpp, npp
unynpwpwn wipnne phy £, hwymwpupymd b hGhghihqugynd £ htiGg for
ghyih dt9: (wpun_2)-n° ghyih pwpniGulpiwl yuwydw6a t, hul (wpn_3)-
n vwhdwGymu t ghyih pwyip /inbihnpjwl nhypnd wjG hwjwuwn t 1-p/:
hGyytu wpn_1-md wylwybu L wpn 3-md Jupbh £ gnpowoty
Juiwjwywl wpnwhwjmnpyniG: wpn 2-p wlywijiwl wbwp L
JopunundGh wpwdwpwlwlwl dhtompynG: Ujdd GmylG opwghpp
thnpdblp Gipyujwuglty for oytpuwwnnph oqlnipjwip L hwdnqytlp, np
wpynilpp GnyGG E, pwgunmpjuip ybpohG wmnnhg: Uju phuypmd
EynwGhG t hwjmGynd

Complete counter=6. wpnwhwjmnipjnilp Complete counter=5 —h thnfjuwphG,

pwlh np wju owbtpwwnph qpowodwl nphypmd hwpyhsh wdp L
wwjiwbh vnnignuip hpwjwlwgynd £ Gnyl mnngnd L owytipuwwnnnhg
nnipu wyl wpnbkl unwgty £ 6 wpdtip

OpmwgpuyhG nn 2.2-4

1 #include <iostream.h>

2 int main()

3 {

4 int counter;

5 for( counter=1; counter<=5; counter++)
6 {

7 cout<<"counter="<< counter<<"\n";
8

9

0

1

}

cout<<"Complete counter="<< counter<<". \n";
return 0;

}
for oybtpwwmnpmd Juwpnn b pwugwiujltp juiwjuiuwl wwpuwdbtnp
Jwyu tp GniyGhuy pnnpp dhwuhG: Pugulju yupwdtunpp wijulmd Ga
qnnyuul L Gpubhg htinn dhulnyGa E npynud £ jan-unnpuytn:
§ 2-3 8nLghsltp

8nighyn thnthnfuwju E, nph Wb wwhynid £ hwugh: UtiphGwjwljwb
hppnnnipjwl b9 wwhwywGynn jmpwpwlsymp thnthnfuwlwl mGh
hwugt, npp Yunptih £ pdw6w (&)-hwugbh owybpuwwmnph ogimpjudp: Stu
2.3-1 opwgpuyhG Yynnp

Opwgpuiht ng 2.3-1
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1 #include <iostream.h>
2 int main()
34
4 int A;
5 A=15;
6 cout<<’] am variable A .\n”;
7 cout<<’A="<<A<<’\n”;
8 cout<<"My address is ~ <<&A<<"\n”;
9 return 0;
10 }
Ornnupyuwb wpnyniGpp’
I am variable A .

A=15
My address is 0x0012FF7C

> 8mghsGtph vwhiwGnuip

bpwljwlwgynd £ unnpl pipdwé ufubitwyny’

mhy gmgsh wijwlnd;

npntin mhyp nu gmgsh wmhyl b, npp hwiwywumwufuwlnd £ owyG
opjijmh wmhwhbG, nph hwugtl htnwqumd wbtwmp b wwhwywlyh
gnigsh wljuwlnd wijwlnuiny gnigsh k9: 8nigsh wlywlnuip Jupnn L
1hGb1 yudwjwwl hpbGuhdhyuwmnp nphl Gwjunpymd £ (*) uhdynp:

8mghsp nuw wowGdhG thmhnjuwiwubh whwy L Gph (wuwwbu
hwjuh 3k, pt hGswhuh hwugh wtnp t wwhdh myjug gnigsh ke, wwyw
Gpw6 whtwp t Yyapwagnpty 0 wpdbtp /wynuhuh gnighsGiphG wijulmy GG
nuuwny Jud O-wjuwl/, hwjwnwy nhwypnid nu Jupnn & htnwquymy
gquugwywlp wnwowglby:
OphGuwy:

int *pAge =0;

Uju ophGwynud pAge —n O-wwb gnighy k, nphG htmnwquynid Yuptih
E Jtpwqnty npukt wipnn9 mhwh thnthnfuwlwGh hwugt:
OnhGwly’
int ~owOId= 50 ; /Rwpmwpupynuf E int mpugh howOId hmpnfuwlpuln
int ¥*pAge =0; /Ruumumupymd | int nuyh pAge O-wlpul gnighsp
pAge= &howOld; /howOId ithmhnfuwljiulh hiwughl Jyemugnnid F pAge gnighspli

GQunptih L gmghsh hwjmwpupmip L Gpwn nput thnthnfuwuGh
hwugbh yipwgpnuip shwynpt vkl mnnnud
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Onhluly:
int howOld =50 ; // Quyunupumnif Fihnginfuwlpu G
int *pAge = &howOld; /<wjumumupymd b gnighs howOIld thninfuwlpGh hwduwn
8nighyGtipp Gwuwntujwiu LG
O <ppnnmpjul wquun  wnwpuwoplbpmd  wyjwileph  pwpfudwl L
gnpowddwl hwdwp,
O YuuubGbpnud pmGyghwGtph L mdjuyGtph hwuwGbhnipjul hwdwnp,
O bmllyghwbtinhG yuwpwitwnptp thnfjuwigbine hwdwn:
> Owtipunnp new

‘Lwhiwmbujwo t ghGwdhly pwpfuquonipjul whpnypnid hhpnnni-
pjnil gpuntgltiint hwdwn: UjG hpuwuwlwgynud £ htnlyw) vjubdwyny
new opjijyn_wnhy
UpyniGpnid ybpwnupdymd £ hwnugyud peoh hwughl, npp whwp L
ytipwqnti nplk gnigsh, wwhty Gpw dbe
OphGuy*
unsigned short int *pPointer = new unsigned short int;

ShGwdhy hhpnnmipjwl wwpwopnd wnwlalugynd £ 2 pwyp
hhpnnnipjniG L Yypunupdpywo hwughb ytpwagnynud £ pPointer gnigshG:
Ujdd Gpulnd Junbith £ phy qpuilgl) htimlbyug Yopyy:

*pPointer = 73;
> Owtipwunp delete

“HhGwdhy hhpnnmpymbp whwp b wquufh dpwgpuignpnnh Ynnihg,
wlhpwdbymnipjul ybpwgdwl hbn dbyunbtn: Fw ppujuwlugynd L
delete owtpwwnph oqGnipjudp, nphG wwpquuwbu htnlmd E gmgsh
wijulmip: Ujuybtu Jtplmd pGGupyguo pPointer gnigsh oqlimpjunip
qpuntigywd hhpnnnipjm Gp wqunynd L

delete pPointer; hpwiwGny:

bpwlywlnd jwuwpymd £ ny pb gnigsh htinwgmd, wj; nhGudhly
hhpnnnipjuG wquumd wjl hwugting, npp quulgywo tp wyjwy gnigsh
dt9: <ppnnnipjwl hwugbh wquunihg htunn gmgsh dt9 Yupbih L
wwhti] wjp hwugb: Fhnwpytlp 2.3-2 opwgqpuhl Ynnn:
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Onwanwjhl Yyny 2.3-2

#include<iostream.h>

int main()

{

int *pHeap = new int;

*pHeap =7;

cout << “*pHeap =\t” << *pHeap << “\n”;
delete pHeap;

pHeap = new int;

*pHeap = 9;

10 cout << “*pHeap =\t << *pHeap << “\n”;
11  delete pHeap;

12 return O;

13 }

O 01NN AW~

Ernqunyiwl wpnynGpp

*pHeap = 7
*pHeap= 9

<h2tp, np sh Jupbih wnwlg nhGwdhy hppnnnipjwl wquumdw6 GngyG
gnighsp oquaugnpoty wyp mwpwop qpunbglitm hwdwn, wjwybu mtinp
yniGtGw hhpnnmpjwl Ynpniun, pwGh np GwhiihG mwpwophl ghibknt
hGwpuynpmpnil sh (hGh /ny wquunbint L ng £ gnpowotint hdwuwnmny/:
§ 2-4 InnLubtp

<nnudp qu YendwlniG t, npp hwjnwpwpdwl dudwGuy uyqpGuyub
wndtp £ unwlmd g6y wy opjijnh’ hwugbwwnmppng, wlGjwlnidny: Ujn
wwhhg ujuwo hnnuip myjwy opjtijnp wypGupwlpwjhl wijwlnuid t,
L wyG wiklp, hGy uuwpynd £ hnuw6 htin GnyyGa6 £, pb juunwpynd L
wnyjw opjhlunp htin:
> <nmuGbph hwymwpupnidp
bpwjwlwgynd £ htinbyw) uenigguopny

opjtijmh_wmhwp & hniwG_wGdwbnud
nphG wbwump L wliywjdwb ytpwgpyuo thGh nplk opjiyun L hpwdwln
wywnuyh Yuwn unnpuyinny ():
OnhGwy

int &rSomeRef = somelnt;

npuntin rSomeRef - p somelnt wipnn9 wmhwh (int) opjtuah hnnuda k:
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Ujuntin hwugtiwwmbp £ hwdwpynd somelnt opjtiyuin: Npwtugh wujwon
wuwnq (hGh, pGGwpllibp unnpl ptipgud ophGuyp
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Opwgpuy G ng 2.4-1

1 #include <iostream.h>
2 int main()
34
4 int intOne;
5 int &rSomeRef = intone;
6 intOne = §;
7 cout << "intOne \t\t =" << intOne<<endl;
8 cout << "rSomeRef\t = " <<rSomeRef << end]l;
9 rSomeRef=15;
10 cout << "intOne \t\t =" << intOne<<end],
11 cout << "rSomeRef\t = " <<rSomeRef << endl;
12 cout << "&intOne \t\t = " << &intOne<<end],;
13 cout << "&rSomeRef\t =" << &rSomeRef << endl;
14 return O;
15 3
Ennupyiwb wpnyniGpn
intOne =
rSomeRef =
intOne =15
rSomeRef =15
&intOne = 0x0012FF7C
&rSomeRef = 0x0012FF7C

<nnudp sh Jupbih yepuGuGuyt:
> nnuiGhpp npyybu HntGlghwih wpgmiGhnbGup
Qhunwpytlp vh wyjuwhuh ophGuly
Swinptinwy 1 Opwepuiihd jng 2.4-2

1 #include<iostream.h>
2 void Swap(int x, int y)
34
4 int temp;
5 cout<<"Swap Function: before swap\tx="<<x<<"\ty="<< y<<endl;
6 temp=x;
7 X=y;
8 y=temp;
9 cout<<"Swap Function: after swap\tx="<<x<<"\ty="<< y<<endl,
10}
11  int main()
12 {
13 int x=5,y=10;

14 cout<<"Main Function: before swap\tx="<<x<<"\ty="<< y<<endl;



15 Swap(x.y);

16 cout<<"Main Function: after swap\tx="<<x<<"\ty="<< y<<endl;
17 return O;
18 }

Onnunpyuwb wpnynGpp’

Main Function: before swap x=5 y=10
Swap Function: before swap x=5 y=10
Swap Function: after swap x=10 y=5

Main Function:after swap x=5 y=10

Ujuwmtin Swap() dmGyghwjhl thnfuwlgynmud GG x L y thnthnfuwlwG-
Gtph wpdtplbpp: ‘Lpw Gepund wyn Gpyne hnhnfuwyuwGibph wpdtp-
Gtpp thnpugynd GG wbtnbpny, vwyuwyG main() $mbGyghw Ytpwnunw-
(winig htimn npulp sk0 ywhwywlynd: Muwmdwnp wyl £ np Swap()
$nmGyghwjhl hnjuwlgynid GG ny pb wpgnuitGnh hpwywl wpdtpGtpp,
wj] Gpuwlg wuwmdtltpp: Uyju ypnpiidp moynud E, Gpp pniGlyghwbGtnhG
npwtiu wpgnuitiln thnjuwlgyny GG Gpulg hwugkltp/ hnmdiGhph Yud
gnighyGtph mtiupny: Uujwon nhnwpytiGp ophGwlyGtph ypw

Swnptipwly 2 : Opwgnpuihtd nn 2.4-3

1 #include<iostream.h>
2 void Swap(int *px, int *py)
34
4 int temp;
5 cout<<"Swap Function: before swap\tx="<<*px<<"\ty="<< *py<<end];
6 temp=*px;
7 *px="*py;
8 *py=temp;
9 cout<<"Swap Function: after swap\tx="<<*px<<"\ty="<< *py<<endl;
10 }
11 int main()
12
13 int x=5,y=10;
14 cout<<"Main Function: before swap\tx="<<x<<"\ty="<< y<<endl;
15 Swap(&x,&y);
16 cout<<"Main Function: after swap\tx="<<x<<"\ty="<< y<<endl;
17  return 0;
18 }
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Ennupyiw wpnynilpp’

Main Function: before swap x=5 y=10
Swap Function: before swap x=5 y=10
Swap Function: after swap x=10 y=5
Main Function: after swap x=10 y=5

Uju ophGuynid Swap() dmbGyghwjhl thnfuwmbGgynd GG x L y thnthn-

fuwuGGtph hwugbkGtpp, huy qu GuwlGwymd b, np wyny $mGyghujp
hwjnmwpwpdwl dh9 wtwmp L hwjnwpwpytl tpyne wdpnne whuh
gnighsGtin, pwlqgh GpwG thnfuwlgymd GG Gpynt wdpnne wmhwbiph
hwugtiGtin: UpnyniGpnud Swap() niGyghwjh vt wmbtintinny thnfuynid GG x
Ly tnpnpuwluGlboph hwugtlbph wywpniGwympjniGGtpp, hull nu
Grwlwymyd E, np htlg wyn thnthnfuwywGGtph wpdbpltpp YthnfuytG
wmbtntipny L ny pt Gpulg ywwmakltppn: Gy main() $mGyghwjhl Ybtpw-
nunlwmg Juwhwywitli wjn hwugtlbiph wwpniGwlmpmGGtpp,
wjuhlpl’ wpdtpGhpp YthnjuytG mbtntpny

Swipptipwy 3 : Opwgpuipht nn 2.4-4

1 #include<iostream.h>
2 void Swap(int &%, int & y)
34
4 int temp;
5 cout<<"Swap Function: before swap\tx="<<x<<"\ty="<< y<<endl;
6 temp=x;
7 X=y;
8 y=temp;
9 cout<<"Swap Function: after swap\tx="<<x<<"\ty="<< y<<end];
10 }
11 int main()
12
13 int x=5,y=10;
14 cout<<"Main Function: before swap\tx="<<x<<"\ty="<< y<<endl;
15 Swap(x,y);
16 cout<<"Main Function: after swap\tx="<<x<<"\ty="<< y<<endl;
17 return O;
18 }
Pnnupyiwl wprynilpp’

Main Function: before swap x=5 y=10
Swap Function: before swap x=5 y=10
Swap Function: after swap x=10 y=5
Main Function: after swap x=10 y=5
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Uju oppluwynd gmghyGtph thnjuwptl gqnpowoymd GG hnnuiGhp:
Swap() pnGyghwjhl thnfuwlgymd GG x Ly thnthnfuwwuGGtpp, npnlp
unwimd b6 &x L &y YtnowlmGGtpp: buy nu Gulwymd b, np wjG
wutlp, hGy Yyuwwuwpgh wyn YtnowlmGGtph htwn, GnyGG E, phb
Juuwpynd £ wyn  thnthnjuwytGGoph  htwn:  UpngniGpnid - Swap()
bnlGlyghwyh b9 wbnbtpny thnfuymd GG x L y thnhnjuwlwGGtph
hwugbGtinh wuwpniGwynipjnGGtpp, huy qu Gwlwymy k, np htlGg wyy
thnthnfuwljwGGtph wpdbtplGbipp Ythnfudtl wmbnbtpng L ny pb Gpulg
wwwdkbtpp: Gy hGywbtu Gwjunpg wwppbpuynmd, wju pghypmd Lu
main() $niGlyghwyhl Ytpwnunlwmg YuuwhwwltG wjn hwugklGhph
wunniGuwynmpnGGtpp, wypuhlpl® wpdtpGhpp YthnfugtG mbtntpny: bp
plnypny wju opwghpp hwiwnpdtp £ Gwhunpn mwppbpuwyhG, vwyu)l
w6 niGh wytih wwpgq gpbpudl:

bGywtu mbulmd Ghp $mGyghwbtpnhlG, npuybu wpgnuitin gmghy
Jud hnmd  thnfuwlgtinyg, hGwpwynp £ ny dhwyl GuybnwihG
njuiGph  thnthnfund, wyil wynwhuh - $niGyghwlphg YJuptih b
unwlw] vtyhg wytiih wpdtipGhp:

§ 2-5 QuliqwéGhp

Oulquén hwiwywpqsh hhpnmmpymG vk dhubnyG wmhuh
unjwyGtph hwjwpwont E: SYyunGlinh yjpipupwlsymp sShwynp wlubGnud
b6 quGqyuoh tititGun:

Qulqwoh hwjnmwpwpiwl hwiwp wihpwd)wm t Gy Ghw nhwnp,
wniGp L sguthp: OphGuy

long int LongArray[20];

npp Gpwlwynd b hwjmwpwpty LongArray wljwlniding qubquo,
Juquywd 20 hwwn long int wmhuh EjtdtGunbtphg:

QuliquoltphG Yuptih L ytpwgnpt) judwjwuwl winGGbp, vwlyw)
wjl whwp E wnwpptpyh wy qulqyuobtnh, thnthnfuwlwGGbph jud
hwunmwwmmGliph  wlmGGbphg, hGswbu Gwb  swhwmp E {hGh
wwhbunmuwynpjwo pun:

Quliquoh LiudtGnbiph hwugtwynpnip npnpynud £ 1-hG EjadtGnh
hwugbh Guwdwdip, npp hwdwpymd £ quoyuju6: Aipduwo ophGuymuy
LongArray-h wnwohG LitidtiGunhG Yunptih E nhib wjuytu® LongArray[0]:

Quliquobtph LtdtGnGephG pwqujhG mhyh wpdbpltp Yupbh
Ytpwgnpt Gpulg hwymwpupiwb dwudwwy htinlyw) mbfulnnghwny’,
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wijwlmihg htimn npynd £ hwjwuwnpdw@ Gpwi, nphg htimn dLwynp
thwljwqotiph dty dhdjwlghg uwnnpwlytnny pwdwlynd GG wyG
utionmpyni GG, npnGp Ypuwgpynud GG ytpohGhu EiiutGunGtphG: OphGwy

int IntArray[5] = {10, 20, 30, 40, 50};

Gpunnwip GQwlwymd £, hwjmwpunpt int mhyh IntArray quiquon,
L Gpw 1-p6 EtdtGupG ytpugpt) 10 wpdtp, 2-pnhG 20 L wyG:

Qh Jupbth quGqyuohl ytpwagpt] wybtjh pwwn LEdtGnGhp, pwl
upwo b Gpu hwyunuwpupdwl dte, vwlywyl hwiwowyp Yunpth t:
OnphGuy

int IntegerArray[5] = {10, 20, 30, 40, 50, 60}; //Utuw gpunnid t:

int IntegerArray[5] = {10, 20}; //Ufuwy sk

> OpjtiynGtph quGqyudGtpp

Quiwjwlwb opjtijn Jupnn £ wywhwywlyt] qubqquoh uvty: Gph
Juuup  wwpnilwynd £ ebjhmpyjudp . wpjwo unwlnupn
YnGunpnijunp, www Juuh opjtijnp Yupnn E untindyt) L wuwhww Gyt
quiquonid, qubqyuoh hwymwpuwpdwl htin thwdwiwGuwl:

Quliqquoh Liutlmbiph wewldhl thnthnfuwwb-wlnuubGtph jud
utipnnGtinh nhuikjwalp Gepujugywo k unnpl

Opwignuighd gnn 2.5-1

1 #include <iostream.h>

3 class Man

4 A

6 int itsAge;

8 int itsWeight;

10 public:

12 Man(){itsAge=1; itsWeight=0;};

14 ~Man(){};

16 int GetAge() {return itsAge;};

19 int GetWeight() {return itsWeight;};
21 void SetAge(int age){itsAge=age;};
2 )

24 int main()

25 {

26 /Ruymwpunpynud t Litter[ ] quGqyuion, npp wwpniGuynid £ Man Yjwuh opjtljnGhp
28 Man Litter[5];

29 int i;

30 for (i=0; i<5; i++)

31 // Qulqwoh i-pn wlnudh hwiwp wpuwnmbgymd t SetAge() dtipnnp
32 Litter[i].SetAge(2*i+1);
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33 for (i=0; i<5; i++)

34 {
35 cout << "Man #"<<i+1<<":";
36 // Qulqqwoh i-pn wlnwih hwdwp wpuwwnbtgynud £ GetAge() dtpnnp
38 cout << Litter[i].GetAge() << endl;
39 }
40  return O;
41 3
Onnupyiwl wpnyniGpn
Man#1:1
Man #2: 3
Man#3: 5
Man #4: 7
Man #5: 9

> Puqiwsuth quiqiuolhn

GQunbih L unbinoty L gnpowot) vty swhhg wytih qubqyuoltp,
npntn Juiwjwyuwl EtdtGn Jupbh B oquh hwiwywunwuhuwb
hGnpuwynpiwdp: OphGuwy Gpysuthwlh qubqyuoh hwdwp wlhpw-
dtipn LG tpynt hGntipulbp, tnwswth quiquoh hwdwp tptp L wyG:
StuwluwlnptlG Yuwpbh L unbtnot]p Juwdwjwlwl sjwithh qulqyuo,
uwluw)l gnpoGuublnd oqunugnpoynud GG Gpysuthwlh qubqyuoGhpn,
npnlig nuuntdGuuhpnipjudp k) dtlp Yqpwnytlp unnpli:

Glpwnptip mGhlp Square wljwlniiny Ywup: Board wlwlnuiny
dhwswih qubquoh hwymwpwpmdp, pyny 64 LtdkGuGtph nhwypnid,
wyn Yjwuh opjijnGhiph ywhwywGdwl hwiwp, YniGhlw htnlyw mtupp

Square Board[64];

buy tpyswih quigguoh hwiwp Jupbih £ yuwpquutiu gptg
Square Board[8][8]

Gnyswthwlh qubquoltph gnpowdnudp wnwyt] Guuwwmwluwhwp-
dwp £ wyl nhwypbpmd, tpp thnpd £ juunwpynid dnpbjwynpty wjlGwhup
fulnhpGtin, npnbn wynuhuh Gipuwywgnin wytijh dnn £ hpwlwG fubnpp
nnuyuwophG /ophGuy pwjuiwnp fjuwnh Spugpuynpiwl hwdwp/:

Puqiwywth quiquoltphG wpdtplGtph ytpugpnuip hpuwjwlwug-
ynud E GnyG &duny, hGy dhwswth qulquoltph ntiypnud: OphGuy
thisArray[5][3] quGquohG wpdtpltph Yytpwgpnudp, npp LidkGunGhpp
wdpnng pytin G0, Junbh £ hpwwlwg Gt hmbywy Yhppy
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int thisArray[5][3] = {1, 2,3,4,5,6,7, 8,9, 10, 11, 12, 13, 14, 15};
Puqiwyuth qublquoh dhy wy; qphjuwél ptpdwo E uwnnp
onwqpuwjhG Yngnud
Opwgnuighd hnn 2.5-2

#include <iostream.h>
int main()

1

2

30

4 int SomeArray[4][3]={

5 {0,0,0},

6 {1,2,4},

7 {2,4,16},

8 {3,6,36}

9 b

10 int i,j;

11 for (i=0; i<4;i++)

12 for (j=0; j<3; j++)
{

14 COut << "SOmeAITay ["<<i <<H:|[H<<j<<":|=ﬂ
15 cout <<SomeArray[i][j] <<end];

16 }

17 return 0;

18}

Ennupyiwb wpnyniGpp’
1[0

SomeArray[0
SomeArray|
SomeArray|
SomeArray|[
SomeArray|[
SomeArray|[
SomeArray[
SomeArray|
SomeArray|
SomeArray|
SomeArray[
SomeArray[3][

> UhdyniGtph qubgyudGtpp

A0 NO—,OOO

—_
N

0]
0]
1]
1]
1]
2]
2]
2]
3]
3]

W O\ W
(o)

L ptpJuo

Stpunp  wnnp hptilGhg Gopyuwjwglnd L uhiyniGiph hwjwpwont:

Uh(;s wjdd dbp Ynnihg gnpowoywdo mnntpp npulp wlwlniG mnnujhG
hwunmwwnmGGtp GG tnt), npnlp dhGp qpnud EhGp cout owytipwwunnph htin

Ophtiuwly
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cout << “ Hello World \n”;

UwluwjG C++ -md wmnnp Junpbh £ GeipuywgGl] npytiu uhdiyniGtph
qulqwo, npp wjwpunynmd k JtpeGwlwl qpnyulwl wmnnh vhdynny:
Unuwhuh qubquop Juptih t hwjwnwpupti b hGhghihwynpti hGywtu
Juiwjwlwl wy mhyh quiquo:

OphGuy’

char Greeting[ |={‘H’, ‘¢’, ‘I’, ‘I’, ‘0’, © *, ‘W, “0’, ‘1", ‘I’, ‘d’, \0’};  Yuwd
char Greeting[ ] = “Hello World”;

Onwgmuht nn 2.5-3

1 #include <iostream.h>

2 int main()

34

5 char buffer[80];

7 cout<<"Enter the string : \t";

9 cin>>buffer;

12 cout<<"Here is the buffer: \t"<<buffer<< endl;
13 return 0;

14 }

Enqunpyiwl wpyynlpp’

Enter the string : Hello World
Here is the buffer Hello

Uju opplwyni wnyw LG htwlyw) tpym wypnpiedGbpp. Guh
huwjnmwpupywo quiquoh LikdtlnGinh pwlwlihg wytihl uhtiyniGtph
Gopimond  hGuwpuwynp sk, L Gpypopg cin owbpwwnpp  puwgwyh
Gtpuinionuip hwdwpmd | npytiu minnp - wjwpum: Uyn £ yuwwdwnp, np
dnnpwgnyudo Hello World pwnwlwwwlygnipjniGhg typwl t nnipu
ptpynid dhwjG Hello punp: Uju wypnpiidp moymd b get() dtpnnh
oqlinipjwip: St’u unnpl pipJwd oppGuyn’

Onwgnuwhd inn 2.5-4

1 #include <iostream.h>

2 int main()

34

5 char buffer[80];

7 cout<<"Enter the string : \t";

10 cin.get(buffer,79);

13 cout<<"Here is the buffer:\t "<<buffer<< endl;
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14 return O;
15 3

Onnupyiwl wpnyniGpn
Enter the string : Hello World
Here is the buffer Hello World

QLNMU 3 SUNUTLARUUUTLNAME3NML
Gd. MNLEUNCLDIRAU

§ 3-1 dwnwhqwlwblniLpjnth

dwnwlquwlnpnilp qnpohp L, nph oqlnipjuip vh Yuwuh
hwwnympjniGGtpp L dtpnnGepp hnfuwlgymd 66 dGY wyp Yjwuh, npntin
npubp Jupnn GG wuwhww6yt], qbipptinGyb; jud owolyty yuhujwd wyn
wlnuwuibtpnh hwuGthnipjwl mhwyhg L dwnwlquiwl wmbfulnnghwjhg:

dwnwlquyulnmpjul hhdGuwywl vlubdwb pipdwo k unnpl

class pwquyyhG_Ywu wGy. : hwu._phdhd wowGgyjuy_ Yumuh_wGy.
{

. /[ wowmGgjuwy Yumuh SwndhG
b

CanniGwd Lt dwunwGqynn YuuhG wGjwlly pwqughl fjuu - base
class, hul] dwnwlquo Yuup' wowbgjuy Yuu :

SwuwlbihmpyulG phdhdp Gwnpnn t |hGhy public, private Lwd
protected UGuwfujwo pwqujhG Ywuh wlnuwiGtph L dwnwlqiw
Ubfuwlhqind qnpowoJwo hwuwbbihmppul nbdhdlGbphg, wowlgjwg
Jwuh wlnwuiliph hwdwp, hGwpwynp hwuwlbhhnpjuG  hanbgug
wmwppbpwyGbpp /ntu wn.3.1-1-p/:

Ugmiuwly 3.1-1
{wuwGbjhmpjub ntidhdp
Puqujhl Jiuuh | Jwnwlqiwb Uowligjwy Jiwuh
winuuGtphG ubfuwGhgquind wlinuuibtpp
Private UGhwuwGhbijh GG
Protected Public Protected
Public Public
Private UGhwuwGhbih GG
Protected Protected Protected
Public Protected
Private | UGhwuw(bih b6
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Protected Private Private

Public Private

OphGwl Onwgnuihd Gnn 3.1-1

7/ Puquyhl juu X
class X

{

int i;
int j;
public:
void Set_ij ( void );
void Get_ij ( void );
b
// Uowlgyuwy jwu 'Y: dwnwlqyuo F X puquhl Jiuuhg <wua. pbdhdp * public
class Y: public X

{

intk; /
14  public:
15 void Get_k (void );
16 void Make k (void );
17 )

Uju ophlwynid X-p pwqujhG Yuwu k£, Y-p© dwnwlquo Jud
wowlgjwy Yywu: Y Juuph pnmbGyghw-wlnuibtpp yunpnn GG gnpowoty X
pwquyhl Yuwuh pnhwlnip (pug) wlnuiGhpp' Set ij() L Get_ij() dbkpnn-
Gtnp, vwyu)G Gpwlp s6G Yupnn gnpowoty i jud j thwly wlnuwdbbpn:
Gpt X Juwuh i L j wGnudGtpp hwjnwpwnytG protected, wujw npwlp

hwuwGhih Y1h6aG Y Yuuhg, vwu)6 YpwpniGuwyyel thwy dGwy opwugnph
w]] hwnmywoGtnhg:

> UnGumpmyumnpGhp L nhumpnyupGhp

Uowlgjuw; YuulGtph hhdptiph  Jpw  opjywmlGtph  uwmbinotwh
dudwlwly Yuwlyynmd GG Gwju pwqujhl, wjlnthbnl’ wowlgjuy
Jwultph YnGuopniyumnpltpp, huy Gpulg hbiowgdwl dwdwluy
nhiunpmyumnplbpp” YnGunpniunpliph Jubsiwl hwjunwly hwenpnu-
Juwlnpjudp: Stu ophGuy 11-4-p

Opwgnuiht nn 3.1-2

—_
SO X0 WnN B W —

—_
W N~

1 #include <iostream.h>
2 //UwhdiwGynd £ Human puquyjhG Yuup
3 class Human
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{

protected:
int itsAge;
int itsWeight;
public:
Human() { cout<<’Human constructor\n”; };
10 ~Human() { cout<<’Human destructor\n”; };
I H
12 // Uwhdwynud & Man wowGgyuy Yuup
13 class Man : public Human
14
15 public:
16 Man() { cout<<’Man constructor\n”; };
17 ~Man() { cout<<’Man destructor\n”; };
18 3
19  int main()
20
21 Man Harry;
22 return 0;
23 )

O 03N L~

Ernqunyiwl wpnynlpp

Human constructor
Man constructor
Man destructor
Human destructor

> dtpwdwdlynn dtpnnGtp

Gpt pwquyhl Juund hwynmwpupjwo dtpnnp wowlgjuy Yuund
wwhwwGh hp wbtupp, uvwluwyl hpwlwlwgbGh dGY wjy; qnponnmp)niG,
wyw Jupbh £ owub, np w6 owdymd E puquyhl Yyuuph hwdwlmG
dtipnnhG: Uowlgjw) Ywuh hhiph Ypw unbtndjwd opjilumh hwdwp
ytpnhhpju dbpnnp uGsbinig jupluwwnmh Jipuowolwoe wmwppbpuyp,
huy pwqujhG Ywuh hhdiph Yypw unbinoywd opjtywmbhph hwdwp °
pwquwjhl mwuppbpwyn: “thnwnpytlp wujwop unnpl pipgwd ophGwyp

Onwgnuwhd inn 3.1-3

1 #include <iostream.h>
2 class Human

3 {

4 protected:

5 int itsAge;

6 int itsWeight;

7 public:
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8 Human() { cout << "Human standart constructor \n"; };

9 ~Human() { cout<< "Human destructor \n";};
10 void Voice() { cout << “Human sound \n “; };
| DU

12 class Man: public Human

13 {

14 public:

15 int itsLenght;

16 Man() { cout << "Man standart constructor \n"; };
17 ~Man() {cout<< "Man destructor \n";};

18 void Voice() { cout << “Man sound \n “; };
19 ;

20  int main()

21 {

22 Human Olga;

23 Man Harry;

24 Olga.Voice();

25 Harry.Voice();

26 return 0;

27}

Ennupyiwb wpnynilpp’

Human standart constructor
Human standart constructor
Man standart constructor
Human Sound

Man sound

Man denstructor

Human denstructor

Human denstructor

> Jphpumuy pmGYghwbtn

Gpti wowlgjw) Yywuh hhiph Yypw untindoywd opjtijunh hhpnnnipjwG
hwugtl ytipwanyh puqujh Yiwuh gnigshG, nph hhdph ypw wowlgyt
wn opjtijnp Yluup, wujw wyn gngsh oqlnipjwdp YJuptih YihGh nhdky
hG;wbu  puquihG Ywuh  opjtumlhphl, wjylk GpuwGg hhdiph  Jpw
untindywo wowbgjw] Yuwuh opjtiunGtinhG: OphGwy

Opwgnuiht nn 3.1-4

1 #include <iostream.h>
2 class Human

34

4  protected:
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5

6

7

8

9

10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30

int itsAge;
int itsWeight;
public:
void Voice() { cout << “Human Sound \n ““; };
virtual void Move() { cout << “Human moves one step \n” ;};
15
class Man: public Human
{
public:
int itsLenght;
void Voice() { cout << “Man Sound \n *; };
void Move() { cout << “Man moves four step \n” ;};
B
int main()
{
Human *pHuman_1 = new Human;
Man *pMan = new Man;
Human *pHuman 2 =new Man;
pHuman 1 -> Voice();
pMan -> Voice();
pHuman 2 -> Voice();
pHuman 1 -> Move();
pMan -> Move();
pHuman 2 ->Move();
return 0;

}

Ennupyiwb wpnyniGpn

Human Sound

Man Sound

Human Sound

Human moves one step
Man moves four step
Man moves four step

Uju ophlwlyny, Human pwquwjhG Yuund hwjmwpwpjuwo GG Gplynt

dtipnnGtin, npnlp yipwowoywo LG Man wowlgjwy Juund: Lpwlghg
ubyp unynpwlwl ubpnn E° Voice(), hul Move()-p* qphjwdlmd
wuwnpniGuwynd t Gnp (virtval) pwGuhwyhG pun: UjGnithtnl  ghGudhy
hhpnnmpjnilnud hwyjnmwpwpgwo G0 Gptp opjtinGhp, npnlGg Ywpbih
nhit] hwiwwwwmwufuwlG gmghsGiph  oqlmpjwip: Lpwlghg Wkyp
Human Yjuuh opjtiyun t, nph hwughkl wwhymd t *pHuman 1° Human
wmhyh gnigsh kg (wnn 23): Gpypnpngpn” Man wmhuh opjtywn £, nph hwugtG
wwhynd £ *pMan® Man wmhujh gmgsh b9 (nnn 25), hull ytpohlp, npp
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Man Ypwuh opjtiwn t, Gpuw hwughl yapugpjuo £ Human mhwh gnigshG
(*pHuman_2) (wmnn 27): Pnmnp tptp opjtijwnGtph hwdwp hbtppny
Julsynd GG Gwpu’ Voice() — unynpuwlwl (wmnn 30-32), wjlnithtnl’
Move() - yphpwmniw) dtpnnGhpp (nnn 34-36): Gpt wnwohlG ntwypnid
wfuwmbgymu t ypwowoywo dtpnnh wjl wmwppbpwyp, nph hhdph
Ypw hwynmwpupjwo GG tnk; gnighsGhpp, wwyw Gpypnpn nhwyph hwdiwp
Julyynud L hwdwywunwuppwl wowlgyjuy Jwuh Yhpwowdywo
ubpngp: <bg upwlnmd bt YJujwlnud b dhpomuy  pmGyghwbGtph
wnwptinipjnilp: ‘Lpwlg oqlnipjuldp pwqujhl Yuulbpnd unbndynid
L0 wGhpwdbt)n hGumbpdtjulbtp, wjlnthbnl wowlgyuy Yuwubbpmy
npulp Ybpwowolyymd GG wwhwGoynn btnwlwlGtpny, nphg hbwnn
untinoymd G0 wowlgjuy YpuulGkph opjywnGtp, npnlGg hwugkGhpp
Ytpwagpytny pwqujhG Juubtph hhiph ypw vwhiwGwo gnigsyGhphG,
hGwpwynpnipyniG £ unbindoynd Jubstiint hwiwwywnmwuuw b wowbgyuwy
Jrwumyd qnponn dkpnnh ypwowdguo mwppbpuynp:

Gpt Juumd hwjnmwpuwpjude GG Jhpunmuwy pmbGyghwGhp, wuww
ntunpniunpp ku ytup Ehwyjmwpwndh Jhpumnuwg:

> Uwpnip Yhpunnroy $niGlghwGhp b wpumpuljn whutn

dhpunmuy dmbGyghwbGtpn Ynsynd G6 dwpnip Jhpunmuy, tph npulp
hwjnwpupjuwo 6 puqughl JruouGbpmy, vwiuy6 rubgmd npmygud
s60 U GpulGp vwhiwbymy G6 wowbgywy Yjwulhphg yjmpupwlsjnipnnd
wnwGdhG:

Uwpmp Yyphpumniwg $mGyghwl hwymuwpupynmd E hbnlgyuwy vubdwny

virtual Jtpwnunpdynn_ mhy $mGyghw wljubnid (wuwnpwdtwnp_1,
wwnuitnp_2, .... yqupuitnp n)=0;

nputin Jepunupddnn_whwy -p pniGlghwhg Jipwnwpdynn §hompjub
wmhul £, pmbyghw wijwmbimd — p wjl $mbhghwih wljuwlindb £, npp
hwjnmwpwpymd £ npybu dwpnip yhpuniwg $nilGyghw, (wupuwdbnp 1,
wuwpwdittnp_2, .... wwpwdtp_n)-p wjl wwpwdtnptph guiy6 t, npp
unwimd £ wjuy pnGyghwG, hul = 0 wpmwhwjmmpnilp gnyg L
nwihu, np mGhlp dwpnip Yhpmmw dnilyghw, b wyn Juumd sh
uyuwuynud wyn b Gyghwjh vwhdwlmun:

Gpt Juwup wupniGwynd £ gnlt vty dwpnip yhpunniwy $niGlyghuw,
wyw (pwl wijwlnd Gl wpumpuwlm whyh Juu: Upunpuln fuuh
hhiph Yypw opytipn hwymwnwpty hGwpuwynp st: Uwlw)G poyjjumpymd L
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wowlgjuy YuulGtph hhdph Ypw untinoti opjtywnGtp, L Gpwlg
hwugtibpp  Jbpugptp  wpunpuyum  puquyhG juuh  hhdph  Ypw
hwjnwpupywo gnighsGiphG: Ghnwnpytlp vnnpl pipdwo ophGuyp:

Onwgmuht nn 3.1-5

1 #include <iostream.h>

2 class Human

30

4 protected:

5 int itsAge;

6 int itsWeight;

7 public:

8 void Voice() { cout << "Human Sound \n" ; };
9 virtual void Move()=0;

10}

11 class Man: public Human

12 {

13 public:

14 void Voice() { cout << "Man sound \n"; };
15 void Move() { cout << "Man move four step \n" ;};
16 };

17  class Woman: public Human

18 {

19  public:

20 void Voice() { cout << "Woman sound\n"; };
21 void Move() { cout << "Woman moves six step \n" ;};
22 5

23 int main()

24 {

25 // Human Some Human;

26 Man *pMan = new Man;

27 pMan -> Voice();

28 pMan -> Move();

29 Woman Ann;

30 Ann.Voice();

31 Ann.Move();

32 *pHuman gnigsh dti9: */

33 Human *pHuman = new Woman;

34 pHuman->Voice();

35 pHuman->Move();

36  return O;

37}
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bGywtu tplmd £ pipqwo ophGwlyhg, wpunpwlywm Ywuh hhiph Yypw
hGwpwynnp sk unmbinoly nplk opjtn: St’u hpwiwGwjhlG Ynnh 25-pn
wpghjuthwljwo mnnp

Upunpwlyum Yuwulbpp Jupnn GG 1hGeYy dhwjG pwquyhG: ‘Lpulg
hhiph Ypw YJuwnptih b uvnbnotp wowlgjw) Yuwulbp, npumbn dwpnip
Yhpnniwy pnilGyghwlbpp Jupnn G0 vwhdwlytp JopeGwlwl wnbtupny:
Uowlgjuw; YuuwulGtph hhiph YJpw hwjnwpwpjuwod  opjtijnbtph
hwugtiGtipp uptih §E wwhyw6l], wpunpwlun Ywuh hhiph Ypw
hwjnmwpupywo gnigsh dke: Stiu hpwiwlGwjhG Yngmd 58-pn wminnp: buy
nuw Gulwymd E, np Gpw oqlnipjudp Juwpbtih b w6t puqujyhG
Jruumd vwhdwlGjwo b hwiwywunwufuwl wowbgjuy Yiuuntd npnpyud
dwpnip Yyhpunnwy $pniGyghwih hwdwpdtp wmwpptpuwyp: Stku  62-pn
hpwiw GwjhG mnnp npp EypwG E gnipu pipnod

‘Woman moves six step  wpumwhwjnmpjnilp, wjG nhypnd tpp 60-pn
wmnnp Eypw £ gnipu pipmad
Human Sound wpumwhwjnnipniGp

§ 3-2 Mn hdnpdhqu

C++ jbqml, $mGyghwGtph L YuwulGbph wnphinpbhqip pGnphhy,
wowlgnd L wmwpptp opjiyumGtpnid  hwdwlnG  $mGyghwbtiph
qulwuqui hpuwywlwgdwl hGwpuwynpmpniGGtnh wywhnydwn:

Gpp mGhlGp pwqwjhG Ywu, npnd weluw GG dwpnip Yyhpunowg
PnGyghwbtin b wyn Juwuhg dwnwlqynid nt unwgynud LG dkyhg wytih
wowlgjuy Yuubtp, npnGghg  jnipupwlympnd ppujuwlugynd L
dwpnip  Jhpnnuwy  dbpnnGhph  jnipoppGwy  uwhdw6nuiGhp, wyn
ntypnd, bpt wowlgjw) Yuwultphg jnpwpwlsmnmph hhdwl Ypw
untinoytl opjtywlbbp, hul Gpwlg hwugtlbpp ywhywlytl puqujhb
Ywuh gnigsh ke, wujw hGwpwnp YihGh JpghGhu oqlnipjudp Yulsky
wowlgjw; Yuuwuph Jepwuwhdwlwo dbpnph  hwdwywwnwufuwb
nwppbipwyn: Uujwop ghnwnpytlp 3.2-1-md pipdwo ophGwyh vt

Opwgnuihl nn 3.2-1

1 #include <iostream.h>
3 class Animal

4 {

5 int itsAge;
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6 public:

8 virtual void Eat()=0;
9 15

11 class Dog:public Animal

12 {

13 public:

15 void Eat() {cout<<"I am Dog. I like meat
16 ;

18 class Cat:public Animal

19 {

20 public:

22 void Eat() {cout<<"I am Cat. I like milk
23 ¥

25 class Cow:public Animal

26 {

27 public:

29 void Eat(){cout<<"I am Cow. I like green
30 ;

32 int main()

33 {

35 int choice;

37 Animal *p;

38 cout<<"Insert the number drom diapazone 1...3";
41 cin>>choice;

42 switch (choice)

43 {

45 case 1: {p=new Dog;

46 break;}

48 case 2: {p=new Cat;

49 break;}

51 case 3: {p=new Cow;

52 break;}

53 default: break;

54 b

56 p->Eat();

58 delete p;

59 return 0;

60 }

Ennupyiw wpnynilpp’

Insert the number from diapazone 1...3 2
[ am Cat. I like milk.....

Insert the number from diapazone 1...3 1
[ am Dog. I like meat.....
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Insert the number from diapazone 1...3 3

I am Cow. I like green.....
> Puqiwyh dwnwlqiwb sEluwGhqiGhpp

Gnpolwlulnd hGwpwynp £ wjGuyhuh mwppbpuy, tpp wowlgjuy
Juup dwnwlqymyi t 1-hg wybih  pwquwjhG YJuwubtphg: Wyuyhuh
wnngtiup Yngynud £ pwqiwyh dwnwlgmu: Uju phypnd wowlgjuy
Juuh hwjnwpupiwli dwdwluwly pwquyhlG YuuGbpp pqupiynd L
thdjwlghg pwdwlymd GG unnpulitnlbpny’ jaipupwlsniph hwdwp
dunwlqiwl hwuwlbhmpjul ntdhih 2tyundiwdp: Uhntdwwmhy wjl
Juptih E GepyujwgGt) htnbyw) Yepy

class wowlgyjw) Juu : hwu ntdhd 1 pwquypl Juwu 1, hwu_  nbdhd 2
pwqujhl_Ywu 2...... hwu ntidhd N pwqujhl Jjuwu N
S
1
hwu_ntdhu:
thnthnfuww6 winuy_1;
thnthnfuwlwl winuy 2;

hwu_ ntdhu:
Inyghw wlinuy 1
$mlGyghw winwy 2;

hwu_nkdhd_i —np nu i- pp puquighG Juwuph hwowGbhnipjw ntdhdG t:

‘Liwl dwunwlqiwl nhypnid wowlgjuy Ypuwuh hhdph ypw opjtijn-
Gtnph untinondp pipnud £ puquighG YuuGbph YnGunpnipumnpGhph futs®
hwjnmwpupdwi wnmmd  gpulg pJupyiwl  hwonpnuwlnipjudp’
dwjuhg we: /Yhumpmyunplhpp Jubyynmd GG YnGuuopmiyumnplGbph
hwlwowy hwonpnuw lmpjudp/: Uujwop nhnmwpyblp unnple phpduwdo
ophGwyh ypu:

Opwgnuiht hnn 3.2-2

#include <iostream.h>
class Basel
{
public:
Basel() {cout<<"Constructor for class Base_1\n";};
~Basel() {cout<<" Destructor for class Base 1\n";};
15

class Base2

0NN B W~
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9 {

10 public:

11 Base2() {cout<<"Constructor for class Base 2\n";};

12 ~Base2() {cout<<" Destructor for class Base 2\n";};

13 3

14 class Derive: public Basel, public Base2

15 {

16 public:

17 Derive() {cout<<"Constructor for class Derive\n";};

18 ~Derive() {cout<<" Destructor for class Derive\n";};

19 %
20 int main()

21 {

22 Derive Derive object;
23 return 0;

24 }

Ennupyiwb wpnyniGpn

Constructor for class Base 1
Constructor for class Base 2
Constructor for class Derive
Destructor for class Derive
Destructor for class Base 2
Destructor for class Base 1

> Jhpuniwy puquighG fuuGkp
Puqiwlh dwnwlqiwl dwiwlwl pwqwjhlG Yuwup wowlgjug
Yrwunwd sh Jupnn hwlnhwti 1-hg wytiih wiquu:
class Der: Base, Base{ .. .. }; /[ ufuun E
Uwlwjl pwqujhl uup Jupnn b thnjuwlgyty wowlgyjwy JuuhG
wlninnuyhnpt6: Uyuwytu ophlGuy
class X: public Base {. .. };
class Y: public Base {...};
class Derive: public X, publicY {...};
Uudwonp hwiwwyuwunmwufuwlnd | dwnwlqiwl htinlywy Gy 1 vfubdwjhG

Base Base

i

=

Derive Derive
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Uju nhypmd Derive wowlgjuwy Juwumd Base pwqujhl Yjwup
wimnnuyhnpt wnyw £t 2 wlqwd: PwqujhG Yuwuh wlnudlGbphG
nhitiinyg wopwowlnd L pwqiwlywlwly hpwyhdwl, nphg funuwthbjn
hwiwp wlhpwdtinm £ pwquyhG Ywup hwjmwpwnty yhpunnowge: Uiy
ntiypnd YniGtlGwlp htnbywy GyulGwyniip

class X: virtual public Base { ... };

class Y: virtual public Base {...};
class Derive: virtual public X, publicY {...};

Ujdd Derive /wowlgyuy Yuup/ wupniGuymd b dhwyG dtly Base
Juu: Uyn opplwyp hwiwwwwwufuwlnmd t dwnwlqiwG G4 2-h
ufutidwjhG
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Lugtpuo 1

Opwgptiph  Juqinuip, Yndwhjughw(, Yunwpnnujul  uyjitph
umnwgniip L pnqupynuip Microsoft Visual C+ 6.0 dhowjwjpnid:

Muwnpquqnyl Gwuwgoh untinddwl hwiwp wlhpwdbyn k

1.

4,

5.

UGgGh) Start=>Microsoft Visual Studio 6.0=>Microsoft Visual C++6.0
Swiwwwnphny L ponuplty wyG /qwd npll  Gquwluwling  pongupllby
MSDEV.EXE puyjp/

Lpwiwbwyh dklynih File Ytnnd pnpt) New tGpuytnp b pnnuinlby wyG:
Pwugwo wuwumnthwlnmd plupt; Win32 Console Application Ytiwnp, Project
name nuwpunnd dnnpuqplp Gwfuwqoh wljwlnuip L ubnd OK
hpwdwGwjhG Yndwyn:

Pwugdwd yuwunthwlnmd pGunpt; An Empty Project Ytunp L utinity Finish
yndwyp:

Pwggwo Gnp yuwwnnthwlnid utinit OK Yyndwlyp

Gluytnmwjhl $wjtnh uvnbinodwl L jumwpnnuyub $wjtnh dbwhnfudw6
npwig pnqupyiwl hwdiwp wihpudtyum b
6.

7.

LpwiwlwjhG vkGnih File Ytwmnud pGunpt; New Yhup
Pwugquo wwwunthwlhynd pGupty C+ Source File-p Ytnp: Add to Project
wmbpunwjhl nupumd dmwnpwgpt] Gwjuwqoh wlwlnuip, File name
wwwunthwGhynd dnunpwgpty bwyh wlnilGp L ubnitp OK hpwdwGwjhG
yndwyp:
Ununpwignti nplk opwgpuyhG Ynn' : OphGuy

#include <iostream.h>

int main()

{

return 0;

3
<pwiwlwjihG dtGnth Build Yhwnmd pGuptyp Build Hello.exe hpwdwlp L

pnnunyty wyG Gy utinity F7 $niGy. yndwlyp/

cout<<"Hello world! \n";

- fwiinqyby, np Yndwhjwghwih wpnipnud Yndwfywmnpp ng 6h ufuwg sh

hwjnGwptpty:

. Lpwiwlwjyhl dtGynih Build ytnmd pGupt) ! Execute Hello.exe Ytwp L

pnnunyt] wyn quuwpnnuwl pwyp Qud vbndy <Ctrl + F5> pmGy.
YndwyGtpn:
EynwGhG uvnwlwy pnnupydwl wpyynipn

Hello word

. Upluwwnlpp wjwpumbint hwdwp utinit) puguy yndwyp:
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Swytud 2

U . Snmtinh htim wluwunnn ymGlghwGhn

UGJwlnuip

Upw lGwlympynilp

strepy(sl, s2)

sl-p GywumwlwihG qulquwoh dky wpunwgpymd L s2
wnpjnip quigyuwoh ywpm Gwynipynilp

2 strnepy(sl, s2, M_L) sl-n GywunwlyuwjihG qulquoh vk wpwmwgpynid L s2
wnpjnip quigyuoh wupniGuwynmpinipn M L-hg ny wybi

3 strcat(s1,s2) s2 minnh wupniGwynmpjniln shwgynwd £ s1-hG L wpnyniGpp
wmbtnwynpnd £ s1-h ubg

4 strlen(s1) Jtpwnupdvmd £ sl Guuwuwywjhd  qubguoh

LiitlGunbbph pwlwyp

stremp(sl, s2)

bpwjwlwglimd £ sl n s2 wnpbtph hwdtdwnmd L
wnnynilpnid Yytpwnupd Gnd wdpnne phy:
C26n npnud’

0, btpbk sl L s2 wnntpp pwnwpwGuihG hiwunny
hwipGybnd GG

1, tipti s1 minnp pwnwpwlwjhG hdwuwmny d6o £ s2-hg

-1, tph s winnp pwpwpwlwjhG hdwuwmny thnpp k s2-hg

£ . Uwpbidwnhyuwiw G $mbyghwbtn

<< | UGYwGnidip Lowlwympmlp

1 sin(x) hw)ywnpynud | x wpgmuidtGup sin-p

2 cos(x) huyJuwpynud £ x wpgnuitGumh cos-p

3 tn(x) huwyJuwpynud £ x wpgnuitGunh tg-p

4 pow(X,y) huwpqupymu k x¥ dkonipjwl wpdtpn

5 exp(x) hwpqupymu k e* dhompjwl wpdbpp

6 lg(x) hwyywnpynud | pGuwlwG hhipny inquphpd x-n
7 log10(x) hwyywnpynud k10 hhdpny ;nquphpd x-n
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Lwytjwo 3
UunmqnnuijuiG wpfuwnwGpGbnh mupptpuy Gbph nmoqud ophGuiyGhp, *
Umnnignpuipul upfuumulp 1.
1. Qw6 mpJwo a,b,c pytiphg vtiowqniGn:
2. SpwluwnGuwglti n x n yuthwGh hpwluwl dwwunphgp:
3. Quwquty opwaghp, npnp G24wd dhowlwjpnid, Ox pwjny hw)yh
npJwd dnlGlhghwyh wpdbtplpp: Sy x by thnthnfuwuwGGbph
wndtpltiph wnjnuuwlyp:

y:§/x+1/sin(x+1)+3 , xe[8;13,7], 4x=04 -

4. QbpptnGtp Yuwuh YnGuupnmumnpp 2 wlqud wjlwbtu, np th
ntiypnid Gw sunwlw wwpwibtnptp, hul djnu phypnd GpuG
hnfuwlgqud  wpdtpGipp  YtpuwgpytG  YJuwuph  hnthnfuwui
wlnuuiGtphG:

Unnignpulpul wyfuuwnmulp 2.

1. Spywo HG y=axt+b L y=cx+d ninhnGtph a,b,c,d hpwywG

qnpowyhgltipp: Swhi y-h wpdtipp, tpt

O tpp ninhnGEnG hwdapGyGnud GG

y = <1 hpp ninhnbGpp gniquhtin GG

> bpp ninpnG6npG hwngnid GG:
2. Spywod k n pGwlwl pyh hwdwp hwpyt] wpnmwhwjnnipjwl wpdbpn

sinl+sinl-sin2+...+sin1-...-sinn,

3. GhpptnGtp pyh funpuwlwpnp hwpynn $mGyghwGhpp int, float,
double L long whwbtiph hwdwn:

4. Uwhdwltp Dog L Cat JyuwuGtpGtpp: ‘Lpwlg hwiwp vwhdwlbp
Age() puptjuiwub $nbGyghwb, npp jhwdibdwwmp wyn Yuubbph

hhiph Yypw untindywod opjtiyunGtph nmwphpGbpn:

Unnignpuljul wpfuuwnnwip 3.

. SpJwo . m x m sjwthwGh hpwiwl dwnphg: UnwGwy b yalumnpp,
nph b(k) (k=1...m) mwppp hwjwuwp E wpdwo dwunphgh k -pn
mnnh  wnwohG wwppphl, bph wyn wnnpmi ju  gnlb  dby
puwguwuwwl wwpp, hwwowly nbypmd” k-pp winnh  Ytpohl
wnwnphG:

2. dwyt] wpmwhwjnnpjwul wpdbpn

*) Unnmgnnuijul wnwewnpulpGtpn yingnywo GG [4]-hg U [5]-hg:
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3 SpJwd E Machine pwqujhlG Yuwup' Gpuwlnmd Move() dwpnip
Uhpumuwy pnilyghwb: Upwhtp opwghp, npp Yabphujwuglh wn
$ImGyghwjh hpwlwGwgnid 4 mwpptip dutipny:

4. Qpbp opwqpp npp 10-whwl hwdwlpupgmy  Ghpdnioywo phynp
ydluuhnfup 2-wilwbGh:

LmomiGtp

Unmgonnuljul wytuwmwmip 1.
1. Qi mpdwo a,b,c pytinhg thowaqm)Gn:

Loiomu

U oppliwlmy  gnpowoywo b6 dpuwdwdwbwl 2 wmphygh it Lo ifl..else
gnGuinpniyghwGbp: Opwqpuihl Gnph pugumpmppuln hbbp pon pbpyjuwo
dkhGwpwlnipimGGaph */
# include <iostream.h>
int main()
{
/Ruwymwpuwpygnud G a,b,c I max wdpnne mpwh thnhnfuwlpwGGepp
nt a,b,c,max;
/Ubpdnioynd B4 a,b,c ithmhnfuwlpuuGGaph wpdbpGhpp
cout<<"[nput a="; cin>>a;
cout<<"[nput b="; cin>>b;
cout<<"[nput c="; cin>>c;
/* Qwdbdwmymd BG a L b, hmpnfuwlwGGbph JEompm GGbpp, Gnulghg dhEoh
dbonmpyniGp Jbmugnynid F max shninfuwlpuGha %/
if{a>b)
max=a;
else
max=b,
/% Uydd max thnainfuwuGh hbn hwdbdunngmd [ c shninfuwlpulp, Gpl  bEpgptu
wybih dbo pyuyhl wpdbp mGh, www max —hl Jhmugnynid b Gpnw wpdbpn
hwlhwnwl nbuypmd nshls mbnh sh mGeGuind */
if (c>max)
max=c;
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/* Fgymul F gnipu phpmfnid max thmpnfuwlpuuGh wpdbpp, npp wnwybpugnG6 Fugn 3
pybph Uk */;

cout<<"max from a,b & c is a "<<max;

return 0y

/
Onnunpyuwb wpnyniGph ophGwly

Input a=5

Input b=15

Input c=7

max fromab & Cisa 15

2. SpwGuwynbuglbty n x n sunhwGh hpuwywl dunnphgp:
Lowdmu
Spwluynbwglly dwnphgn, wlwlnd F Guw mnnbpp L yniGepp mbnuihnfuly

# include <iostream.h>
/* M bugh hGwpunjnp (h6h quilQyuoh swihn thnfuly 1 wiquif , hwjuuwpuwpywo ko
hwumwmn b hmpnfuwlwln, wdpnge whwh, nphl widhpwhwlnpbld Japuwgmjuo k3
wpdbpp: Opwgnh wy hunnwolGhpmy Ualp qupowoty blp n jhinkpuihl uhdyngp */
const int n=3;
int main()
!
/* Qwpnwpupdmd BG 1§ qhmpnfuwluGGipp / hlpbpulbph hwdwnp /, afnj/n],
quliquon L ¢ thmpnfuwlwln, npp Gwjfuwmbumd o mbypuhnfudwl dwdwluwl
dhowlljuy wpdbplbph  wuwhwywidwl hwdwp */
nt 1], a/nj[n], ¢;
7/ Ubpdmoymd G af3][3] qliquioh Ljbubbinbbpn
for (1I=0; i<n, 1++)
for (j=0; j<n, j++)
f cout<<"af"<<i<<"J["<<j<<"]=";

cin>>afil[j];

/
/* Fypod 66 nmupu pbpymid af3][3] qliqyuioh bidbGnbapp pun mngbph L ujnilGbaph,
Guwifupw i inpuuGuynluwgnidp */
cout<<"Array A before transportation"<<endl;
for (1=0; i<n; i++)
{
for (j=0; j<n; j++)
cout<<afif[j]<<"It";
cout<<endl;
?
J
/ Gumwmnuf F af3][3] qliqyuioh fibdbGmbaph impuwGuynbwgnid
for (1=0; i<n; i++)
for (7=0; j<; j++)
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// afi][j] qulqywioh i-py winnh j-pn upwl EGEdbGunp Jhpuepynid | c hniinfuwlpuGhlG

c=a[1J[j:
/* afillj] qubqduofp j-py wngh py upwd fEdbGup Jepugpdmd oi-py gl jpn
ujulipn */

afijfj]=aljjl1};
/* ¢ hminfuwlpwGh wpdbpp, npp afijfj] qubqywoh i-pg wmnph j-pn upwl LEdEGnG Ip
Ybpuwgnynid [ quiliqyuop jpn uinnh ipy ujwlp®/

afjlfij=c;
//Wupwling wijiwumnymd b nbpuhnfunipiniGn

/

/* Gpghl Fypwd 66 nmipu phpdmd af/3]/3] qliqyuoh LjbdbGnGhpp pum wmnnbph L
wniGbph, mpuGuyntugnidfig hbun %/
cout<<end[<<"Array A after transportation"<<endl;
cout<<end[<<endl;
for (1=0; i<n; 1++)

for (j=0; j<n; j++)
cout<<afif[j]<<"It";

cout<<endl;
/
return 0;
/
Onnunpyuwb wpnyniGph ophGwly
a[0][0]=15
a[0][1]=22
a[0][2]=5
a[1][0]=8
a[1][1]=33
a[1][2]=2
a[2][0]=18
a[2][1]=7
a[2][2]=89
Array A before transportation
15 22 5
8 33 2
18 7 89
Array A after transportation
15 8 18
22 33 7
5 2 89
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3. Gmqity opwghp, npp G74woé showlwypmd, 0x puyny hwyth mpjwd dnGlyghwgh
wpdtipGtipp: Syt x b y thnthnjuwywGGbph wpdtpGhph wnmuwlp:

yzi/x+1/sin(x+1)+3 , Xe[8;13,7], Ax=0,4 :
Lowomd

Uju onwgph wnwGdGwhwnympinilp Jujwlmd b Gpwlnwd, np  Gufu
gnigunpjwo 6 wnwybtp hwdwpu hwlnhwynn dwpbiwwmhywlwl $nilGyghwbtph
gqnpowoiwl wnwldGwhwnmynipynGGtpp, huy wylmhtnl Gipyuyjugduo GG ghyh
Juqudwl ophGuy for oytipwwnnph oqlnipjudp

# include <iostream.h>
# include <math.h>
1nt main()
{
double x,y,delta x;
delta x=0.4;
for (x=8; x<=13.7; x+=delta x)
!
y=pow(x+sqri(sin(x+1)+3), 1.3);
COHt<<”X:”<<X<<Hlt”<<” :N<<—y<<ﬂln N;
/

return 0y

/
Onnunpyuiwl wpnyniGp

x=8 y=19.5572
x=8.4  y=20.3144
x=8.8  y=21.0562
x=9.2  y=21.8311

x=9.6  y=22.6947
x=10  y=23.6963

x=104 y=24.8585
x=10.8  y=26.1658
x=112 y=27.5734
x=11.6  y=29.0252
x=12 y=30.4691

x=124  y=31.8624
x=12.8  y=33.1742
x=132  y=34.3857
x=13.6  y=35.4897

3. QbtpptnGhp YJuuh YnGunpmbwnpp 2 wlGquni wyGubu, np dh ghypmd Gu
sunwbw wuwpudbnpbp, huy dmu ghwypmd Gpwl thnfuwlGgyude wpdtpGbpp
JtpwqpytiG {yuuh thmhnfuwlwl winwdltphG:

Lmonud
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PwguwumpnipyniGGtpp pipqwo GG opwqpuyhl yongnid

#include <iostream.h>
// Qyunby hwpuwpwpgdniod b awhdwGfmd EmyClass wijulnidnyg Guuup
class myClass
l[
// x-p y-p Gpuoh gualy shehnfuwllpo G wlnudGepd GG
mt x,y;
public:
// SQwuwlGbphmpjul pug nbdpd
Uwhdwbymd F myClass Juuuh wnw(lg ypumuodtnpbph myClass() nlGunpnilpmnpn
myClass()
l[
cout<<"Here myClass Construcktor\n";
}’.

Uwhdwlymd | myClass Jjuup wwmudbmppbpny myClass(int int) gnlGumnpnilnnpn
myClass(int k, int t)
{
x=k;
y=t
cout<<"Here myClass Construcktor with 2 parameters\n";

o
Uwhdwbfmd F myClass Jjuuuh myClass() nbumpniljunpp
~myClass()

cout<<"Here myClass Denstrucktor\n";
/i
/* Getx() L Gety() pmlhghw wlnudlGhpn JhpwnwnpdGnid &G myClass Guuuh il
wuyh hmpnfuwlpu G winudGhph wpdbpGhpp */
int Getx()
{

return x;
s
int Gety()

return y;

}’.
}’.
// <pudGulul omuqghn
int main()
{
/* Quwpnmuwpupymd G obl L ob2 opjhlpnbhpp: obl opjhlpinh hunfwp Guwlsymd b
myClass() wnwlg wuwmudtupbph, huly ob2-p hwdwp ' myClass(int, int) wpunflupbpny
UnGuinpnilpmnpGhpp */

myClass obl, 0b2(5,6);
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/7 0b2 opylilpin huwdwip Fymul F gnypu phdnod x gimpnfuwljuGh wpdbpp
cout<<"For ob2 object we have x="<<ob2.Getx()<<endl;

// 0b2 opyblpnh hwdwp gl | popu phpydnid y - hmpnfuwluGh wpdbpp
cout<<"For ob2 object we have y="<<ob2.Getx()<<endl;
return 0y

/
Onnupyuwb wpnyniGpp

Here myClass Construcktor
Here myClass Construcktor with 2 parameters
For ob2 object we have x=5
For ob2 object we have y=5
Here myClass Denstrucktor
Here myClass Denstrucktor

Uunmqbtinuljul wfuwwmwmip 2

1. Spywd GG y=ax+b L y=cx+d mnhnGtnh ab,c,d hpwywl gnpowlhgGtipp:
St y-h wpdtipp, tph
o Gpp nunhnGEpG hwdpGyanud GG

y =41 Gpp nunhnGtpp gniquhtn GG
> Gpp nunhnGtpG hwwnynid GG:

Lmomd

y=ax+b L y=cx+d ninhnGtiph Yupnn GG

1 hwdpGyGty, tpt Gpulg gqnpowyhglGtiph hwdwn dhown Gl htimbywy wuwypdwGatpp
a=c L d=b:

[J 1hGt; gnmquwhtn, tpt Gpwlg qnpowlhglGtph hwdwp Ghpm GG htnlyug
wuwjiwGbtpp a=c L d#b :

1 hwwnybtp dGwgwo nhiyptipnid

Nunh opwgpnud whinp b unnighi htiGg wyn wwyjdwGGtpp

#include <iostream.h>
#include <math.h>
int main()
{
double a,b,c,d;
cout<<"a="; cin>>a;
cout<<"b="; cin>>b;
cout<<'c="; cin>>c;
cout<<"d="; cin>>d;
ifla==c && d==b)
cout<<"Y=0"<<endl;
else
ifla==c && b/=d)
cout<<"Y=]"<<endl;
else
cout<<"Y=2"<<endl;
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return 0y

/

Ornnupyuwb wpnymbp 1 Pnqupyiwl wpyniGp 2 Onpupliwl wpnyynilGp 3
a=5.2 a=12 a=7

b=1.3 b=5 b=5

c=5.2 c=12 c=12

d=1.3 d=3 d=3

Y=0 Y=1 Y=2

2. Spywd t n pGuljwl pyh hwiwp hwyyt wpmwhwjnmpjul wpdtpnp
sinl+sinl-sin 2+..+sinl-...-sinn,

Loiomu

Uyu opwgnmi G6pdnodwo GG p L s thnthnfuwywGGtpp, npnlghg wnwehln
(whwmbujwd L wpnmwnpjwih hwpydwl hwdwp, huy 2-pnp' gnidwph
#include <iostream.h>
#include <math.h>
1nt main()
{ . .
mntn,1;
double p,s;
cout<<"[nput n="; cin>>n;
for (p=1, s=0, i=1; i<=n; 1++)

p*=sin(i); ~/ bnyll k hlis gqnbhlp p=p*sin(i)

S+=p; // nyll E hls qpbhlp s=s+p
/
cout<<"s="<<s<<endl;
return 0
/
Onnupyuwb wpnyniGph ophGwly
Input n=15
s=1.65847

3. GhpptinGtp puh lunpuwGwpnp hwynn pmGyghwbtpp int, float, double L
long wmhwtiph hudwp:

Lmonud

// Pugumpmpni GGapp pwpmunpyuwo 66 dehGwpwGmpiniGG6ph dLny

#include <iostream.h>

/* Unnple impuuio 56 myFunction pnillyghwyh Gufuunnfuybpn int, long, float L double
wnnybph hwdwp */
int myFunction(int x);
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long myFunction(long 1);
float myFunction(float 1);
double myFunction(double d);
1nt main()
{
// Mupgmipjul hwdwn impnfuwuwG6EphG wpdbpGEp Jhmugnywo 56 opugph ko
nt variable x=5;
long variable 1=1222222;
float variable f=12.5;
double variable d=3333.145;
/*Fwonpny 4 wmnnbpmd hbppny Quwlsynid F myFunction pmiGhghwl, npp hlswbu gnygg
b onmwghu pnqupydwl wpgmibGpp  gnpupwlsimp plyph  hwdwp qulsmd  F
qbppbnGUwl ophlGwlh hp uvmuppbpwln */
cout<<"Cube of x ="<<mykFunction(variable x)<<endl;
cout<<"Cube of | ="<<myFunction(variable [)<<endl;
cout<<"Cube of f="<<myFunction(variable f)<<endl;
cout<<"Cube of d ="<<myFunction(variable d)<<endl;
return 0y

// myFunction() pnillighuyh vwhibwlmd Gpp Guw vmwlmd L Jbpuqupdpnnf | oint
wyh dhonipin G
1nt myFunction(int x)
{
cout<<"myFunction for intlt";
return x *x *x;
A
// myFunction() pnilihghwyh wwhdwlmd bpp Gw wnwlmd L oJbpunupdpmd b long
whwyh dhonipim b
long myFunction(long x)

cout<<"myFunction for longt";
return x *x *x;
A
// myFunction() pnillghwh nwhdwlmd bpp Gw wnwlnd L Jbpunupdpmd Eofloat
wyh dhonipim
float myFunction(float x)
{
cout<<"myFunction for float|t";
return x *x *x;
/
/* myFunction() pnilGlghwyh vwhdwlnd bpp Gw vnwlmd L Jbpuqupdpmd F double
whwh dbompymlG */
double myFunction(double x)
{
cout<<"myFunction for doublelt”;
return x *x *x;
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Onnunpyuiwb wpyniGp

myFunction for int Cube of x =125
myFunction for long Cube of 1 =1568835000
myFunction for float Cube of f=1953.13
myFunction for double Cube of d =3.70308e+010

4. UwhiwGip Dog U Cat YuwuGhpGhpp: ‘Lpwlg hwidwp uvwhiwGp Age()
puptimiwuG $mbyghwb, npp Yhunitdwwmh wyn YuuGtph hhdph dpu
untinoywd opjtijnGph mwuphpGtipn:

Loiomid
PwuguupnipyniGGbpp Qwpunpjud b6 vty Gwpw lnipymGatph duny

#include <iostream.h>

/* Ulhpunudbyn b hwyunwmuply Dog [jwup dwupl, npuybugh wyl hGuwpuinn (hGh

qnpowoly Cat fpuuup Skg */

class Dogy

// Uyuinby wwhdw Gymd b Cat Jjup

class Cat

{

// 1tsAge ynuly thainfuwlw G wlnus Cat fpuuh hwdun
nt itsAge;

public:

// Uyt hwjuwpupdnid F pupbludwlpu mpugh Age pmbhghwl
friend void Age(Dog d, Cat c);

// SetAge() pnililighwiny itsAge thnhnfuwlGhl wnpdbp Fjbpugnynid
void SetAge(int age){itsAge=age;};

//GetAge() pnillghuyny 1tsAge thmpnfuwlubh wpdbpp Jemununpdymy k
int GetAge(){return itsAge;};

};

Uwhdwlynid F Dog fjuup
class Dog
{
// itsAge vl thmanfuwlul winwd Dog fpuuuh hwdwn
nt itsAge;
public:
fiiend void Age(Dog d, Cat c);
void SetAge(int age){itsAge=age;};
int GetAge(){return itsAge;};

/Uymnby wpnbl mpymd F Age() pupblwdw il pnGhghugh vwhdwlnidn

void Age(Dog d, Cat c)
{
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/* Qukdunnymd | Dog & Cat fpuulitph hhdpbph ymu winbnoywo opjblpnbbph itsAge
haly hmanfuwlpul winudGaph dGompmGGGpp */

1f (d.itsAge > c.itsAge)

cout<<"Dog age > Cat ageln";
else
cout<<"Dog age < Cat ageln";

}’.
// Ffurnp opuugfip
1nt main()
l/
// Swpnwpmupwo | Dog Gpuuh hiulph yJmw ob_dog opjlljup

Dog ob_dog;
// Swpnwpupywo F Cat fyuah hhdph gpw ob_cat opybljup

Cat ob_cat;

cout<< "Dog's Age 1s 10\n";
/* SetAge() Uipnnh dhongny ob_dog opjhlinh hmanfuwlnul wlnudhl Jemugminid k
10 wpdbp */

ob_dog.SetAge(10);

cout<< "Cat's Age is 15\n";
/* SetAge() Ubpnnh dpongny ob cat opjllnnh thnhnfuwlul winwidhl Jepuqminid k
15 wpdbp */

ob_cat.SetAge(15);
7/ Quilisymd F Age() pupbljwdwiliul priGhghwl, hwdbdunngmd 66 wpngnlplapn
Age(ob_dog, ob cat);
//Opugnph dGwguwo dwup wpnkbl upomy Llip puguninpmpjul Juphp snilh

cout<<"But at now "<<endl;

cout<< "Dog's Age is 15n";

ob_dog.SetAge(15);

cout<<"Cat's Age is 7\n";

ob_cat.SetAge(7);

Age(ob _dog, ob cat);

return 0;

/

Ennupyiwb wpnynilp

Dog's Age is 10

Cat's Age is 15

Dog age < Cat age

But at now

Dog's Age is 15

Cat's Age is 7

Dog age > Cat age
UmnmgnnuijuG wfuwmwGp 3.

1. Spywd t mx m swthwGh hpwiw6 Swwnphg: UnmwGuy b yuywmnnpn, nph blk)
(k=1...m) wmwppp hwjwuwn b npduwo dwuphgh k -n mnnh wewehG
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wnwpphl, Gpt wyn nnnmd Yw gnGh W6y pwgwuwlmb mwnpp, hwljmouly

ntwpn’ k-nn nnnh JtpghG wuwpphG:
Lowdmud

#include <iostream.h>
const int m=4,

int main()

s
1§

bool tarr;

int almj[m], i, j, k, blm];

for (i=0; i<=m-1; 1++)
for (j=0; j<=m-1; j++)

{
COLI[‘<<"a[”<<1'<</7[/l<<j<<// — u’.
cin>>afi][j]
/
cout<<endl;

for (i=0; i<=m-1; i++)
for (j=0; j<=m-1; j++)
cout<<afiJ[j]<<"It":

cout<<endl;

for (k=0: k<=m-1 k++)

{
tarr=rfalse;
for (j=0; j<=m-1, j++)
if (a[k][j]<0)
!
tarr=true;
break;
/
if (tarr==true)
blk]=a[k][0];
else
blk]=a[k][m-1];
/

cout<<"Your result"<<endl;

for(k=0; k<my; k++)
COlIf<<”b[”<<](<<" [— ”<<b[k]<<”|["’.

cout<<endl;

return 0;

}
Onnupyuwb wpnyniGph ophGwly
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Your result
[0]=9 b[1]=3 b[2]=12 b[3]=9

b
2. {wpit) wpnwhwjnnipjwG wpdtpnp
i kl+6

11 1

S
3 5 2k +1
Lmiomd
#nclude <iostream.h>
int main()
{
/* k thmpnfuwluwln L G pwlpnnppugp, npp Gupwhyh fact hnihnfuwluiGh Sko
hwpmwmupmd GBlp wnwlg Grwih qwupd wdpnne whwh: Lphy s gmidwpp, L
gnunpuiih  hwpmwpuph 1+ 1 - 1 qmuwpp (opp huwhblp  gumar
3 5 2k +1

hmpnfuwlpwGh dbe) Ghwymwpupblp double inhugh: */

unsigned short int k, fact;

double s, gumar;;

for (s=0, fact=1, gumar=0, k=1; k<=8, k++)

{

fact=fact*k;
/* Shuybph hwdwwywumwufuwmppulG Guuuwlng 1/(2%k+1) —hg wrwye gpmid
Llp Lt (double) */

gumar=gumar+(double)1/(2*k+1);
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/% Shuybph hwdungunnuufuwmppul Gyuumaualny  (fact+6)/gumar —hg wnug9

qnmd Llp I (double) */
s=s+(double)(fact+6)/gumar;
/
cout<<"s="<<s<<endl;
return 0y

/
Onnupldwl wpnntlpp

s=43251.1

3. Spywo t Machine puquyhG Yuup' GpuGnud Move() wpnip yhpunimg
dmlyghw@: Upwytp opwqhp, npp YGhpywywgh wyn  dmGyghwsh
hnwiwlwgmui 4 mwupptp dLkpny:

Loudnud

‘Luju Yowlghlp Machine Ypuwup, JunmwGwlp 4 mwppbp dwnwlq Yuulhp L
(ipmGg hphiph Ypw Yuwhdwlblp opjtlwmbtp, npnlGg hwughltpp Yuwhtip
pwqujhl Yjwuh gnigsh dti: dtipghGhu oqlnipjuip Yywlsklip wowbgywy Yjuwuh
Jtpwuwhiw (jwd dhpnnh hwiwwwwmwufuwl nmwpptipuyp:
#include <iostream.h>
/Uwhdwlnf bBlp Machine fjuwup
class Machine
{
public:
// wjuwmupmy BGE Move() dwpmip Jhpmniwy S Ghghw G
virtual void Move()=0;
}’.
// Uowligmu blp Machine fyuun vunulmd blp Bmw dwnmulq fjuiup
class Bmw:public Machine
{
public:
// dpuuuhdwind GlGp Move() dbpnnn
void Move(){cout<<"This is a BMW machine"<<endl;}
}’.
// Uowligm blp Machine fjuun vunulnf blp Cadilack dwmuiliq fpuup
class Cadilack:public Machine
{
public:
// dpumuhdwGnid Blp Move() dbpnnn
void Move(){cout<<"This is a Cadilack machine"<<endl,}
}’,
// Uowlgmd blp Machine fjwun uunulmd blp Mersedes dwnwiliq fpuup
class Mersedes.public Machine

{
67



public:
/ dpuunuhidfwnnf Gp Move() dbpngp
void Move(){cout<<"This is a Mersedes machine"<<endl;}
/s
// Uowligmy blip Machine Jpuup munwmd blp Lexus dwnmuliq fpuun

class Lexus.public Machine

s
14

public:
// JEpumuhdwimd ElGp Move() dbpnnn
void Move(){cout<<"This is a Lexus machine"<<endl;}

}’.
/]Gl omughn
1nt main()
{

unsigned short int choice;
// wpnuwmupnid BlGp Machine wjuyh p gnighsp

Machine *p;

cout<<"Insert the number 1, 2,3 or 4 ="

cin>>choice;
switch (choice)
{
/¥ Qwpmwpuwpmd Gp phGwdply hhpnpmpjuld Sbe Bmw wmuyh opjblin L Gpw
hwughl Jepugpmy 64 p gnigshl */
case 1: {p=new Bmw;

break;}
/* Quymwpupmd BGp nhwdhly hhpngmpjul dbo Cadilack mpugh opjhlin L G
hwughl Jepugpmd &G p gnigshl */
case 2: {p=new Cadilack;

break;}
/* Quyumwimupmyd Elp ghGwdhly hipngnipjul dbp Mersedes wpuyh opjliln L Gpu
hwughl Jyemugpmy 64 p gnigshl */
case 3. {p=new Mersedes;

break;}
/* Quymwpupmy BGp phGwdhl hpnnmppul gk Lexus mpuyh opjblpn L G
hwughl Jepugpmd &G p gnigshl */
case 4. {p=new Lexus;

break;}
default: break;
}’.
// Guilsnd BlGp Move() dbpnnp
p->Move();
/Uquunnid BGp phlwdhly hjpnngnipjniGnp
delete p;
return 0,

/
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Onnunpyuwb wpnyniGph ophGwyGhp

Insert the number 1, 2,3 or 4 =2 3. Insert the number 1, 2,3 or 4 =3
This is a Cadilack machine This is a Mersedes machine

Insert the number 1, 2,3 or 4 =1 4. Insert the number 1, 2,3 or 4 =4
This is a BMW machine This is a Lexus machine

4.Qnbp opughp npp 10-wlwl hwdwhupgnid Gepdnioyud pujp jélauhnfup 2-
wljwGh:

Lotomd

#include <iostream.h>
#include <math.h>
int main()
{
nt result,i,some _value;
result=0;
=1
cout<<"[nput some_value=";
cin>>some_value;

for(i=1; i<=int(log10(some_value)/loglO(2)+1); i++)
result=result+int(pow(10,i-1))*(int(some_value/pow(2,i-1))%2);
cout<<"Your result is ="<<result<<endl;
return 0;

/
Onnupldwl wpnniGph ophGuwlGhn
Input some value=11

Your result is =1011

Input some value=123
Your resultis =1111011
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